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[4764] - 101

M.Com. (Semester - I)
MANAGEMENT ACCOUNTING

(2008 Pattern) (Compulsory Paper)
Time : 3 Hours] [Max. Marks : 100
Instructions:
1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define the term Management Accounting. Explain its various tools and
techniques. Also state objectives of Management Accounting.
OR
What is Financial statement analysis? Explain the objectives and steps involved
in Financial statement analysis.

0Q2) The following are the Balance sheet of Star Co. Ltd. as on 31% March 2012
and 31% March 2013.

Liabilities 2012 2013 Assets 2012 2013
Share capital 5,00,000 {7,50,000|Building 5,00,000] 3,50,000
Share premium - 25,000|Machinery 1,50,000| 2,25,000
Capital reserve - Cash Balance 5,000( 15,000
(profit on sales of Raw Material 30,0001 35,000
building) 1,00,000
Profit and loss A/c | 65,000 [1,60,000| Work in progress 8,000( 20,000
Cash credit 40,000 | 30,000|Finished goods 15,000{ 75,000
Outstanding exp. 10,000 [ 20,000|Loans & Advances| 42,000 30,000
[Short Term]
Bills payable 15,000 | 10,000|Prepaid exp. 5,000] 25,000
Bank overdraft 85,000 [ 40,000(Bills Receivable 8,000( 1,60,000
Creditors 1,00,000 [2,00,000|Debtors 12,000| 1,40,000
Proposed dividend | 30,000 [ 45,000|Tools 60,000( 3,00,000
Preliminary exp. 10,000 5,000
8,45,000 {13,80,000 8,45,000(13,80,000

PT.O



You are required to prepare fund flow statement with necessary working notes,
after considering the following.

a) The proposed dividend provided during the year 2013 was X 45,000/-.

b) A Machine having a book value of X 10,000/- damaged and discarded
during the year and depreciation on Machinery charged X 15,000/- during
the year.

c) During the year 2013 compensation X 25,000/- was paid to a workmen.

d) A building having book value X 50,000 was demolished and written off
during the year.

e) Share capital was issued at 10% premium during the year 2013.

f)  Interium dividend was paid ¥ 10,000/- on 1% July 2013.

03) Following are the ratios inrespect of the Financial Year 2012-13.

a) Debtors turnover ratio - 4 times

b) Creditors turnover ratio - 8 times

c) Capital turnover ratio - 2 times

d) Stock turnover ratio - 8 times

e) Fixed assets turnover ratio - 8 times

f)  Gross profit ratio - 25%

g) Gross profit during the year - X 1,00,000/-
h) Reserve and surplus - X 35,000/-

i)  Closing stock is more by X 20,000/- than the opening stock.
)  There are no long term liabilities towards outsiders.

You are required to prepare Balance Sheet as on 31 March 2013
with necessary workings.

OR

Define the term working capital? Explain the Main Constituents and types of
working capital.
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04) From the following information you are required to estimate the net working

capital:
Particulars Cost per unit (X)
Raw Materials — 400
Direct Labour — 150
Overheads - 300
Total cost — 850
Additional information
Selling price — X 1,000 per unit
Output — 52,000 units
Raw Material in stock —  Average 4 weeks

Work in progress (Assumed 50% completion stage with full Material
Consumption) - Average 2 weeks

Finished goods in stock —  Average 4 weeks
Credit allowed by supplier = —  Average 4 weeks
Credit allowed to debtors —  Average 8 weeks

Cash at bank is expected to be X 50,000/-

Assumed that production is sustained at an even pace during the 52
weeks of the year. All sales are on credit basis. Add 10% for contingencies.

OR

What is Responsibility Accounting? Explain structure, benefits and limitations
of Responsibility Accounting.

05) Write short notes on any two of the following:
a) Differentiate between management accounting and Financial accounting.
b) Receivable Management.

c) Cash flow statement.
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Total No. of Questions: 5] SEAT No. :

P3434 [Total No. of Pages: 4
[4764] - 102
M.Com. (Semester - I)
STRATEGIC MANAGEMENT
(2008 Pattern) (Compulsory)
Time : 3 Hours] [Max. Marks : 100
Instructions:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the Conceptual Framework of Strategic Management. Describe in

detail, the various Characteristics of Strategic Management. [20]
OR
a) Distinguish between Policy and Strategy with respect to Strategic
Management.

b) Whatis a ‘Strategic Vision’? State the purposes of developing Strategic
Vision.

02) What is ‘External Environment Analysis’? Explain the various elements to be
analyzed in external environment analysis. [20]

OR
a) Define ‘Core Competencies’. Explain the different tests of identifying
Core Competencies.
b) Whatis ‘SWOT’ Analysis? Explain the various components of SWOT
Analysis.

Q3) Define the term ‘Strategic Planning’. Explain in detail, the basic stages in the
process of Strategic Planning. [20]

OR

Define the term ‘Strategic Choice’. Explain the major steps involved in the
process of Strategic Choice.

PTO



04) What do mean by Strategy Implementation? Explain the basic steps in the
process of Strategy Implementation. [20]

OR
a) Explain the meaning and importance of Logistics Strategy.

b)  State the issues in the formulation of research and development Strategy.

05) Write short notes (Any Four): [20]
a) Approaches to Management Ethics.
b) Company’s mission.
c) Strategic Alliance.
d) Strategic Business Unit Structure.

e) Majorissues in marketing strategy.
f)  Benchmarking.

7 <7 <97
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M.Com. (Semester - I)
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Total No. of Questions : 5]
P3435

[4764] - 103
M.Com. (Semester - I)

ADVANCED ACCOUNTING AND TAXATION

Advanced Accounting

(2008 Pattern) (Group - A) (Special Paper - I)

Time : 3 Hours]
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicates full marks.

3) Give working notes wherever necessary.

4) Use of non-programmable calculator is allowed.

SEAT No. :

[Total No. of Pages : 6

[Max. Marks : 100

Q1) Explain the role of accounting theory. State the concept of Accounting theory.[20]

OR
Write notes (Any Four):

a) Accounting standard

b) Professional development of accounting in India.

c) Finance lease.
d) Accounting principles.

e) Methods of valuing goodwill.

02) The balance sheet of three companies X Ltd., Y Ltd., and Z Ltd. as on 31*

March 2013 are given below. [20]
Liabilities X Ltd. Y Ltd. 7 Ltd.
Rs. Rs. Rs.
Share capital
Equity share of Rs. 100 each fully paid | 5,00,000 | 4,00,000 | 1,50,000
Profit and loss A/c 1,20,000 | 1,00,000 52,000
Creditors 20,000 25,000 8,000
6,40,000 | 5,25,000 | 2,10,000

P.T.O.



Assets X Ltd. Y Ltd. 7 Ltd.
Rs. Rs. Rs.
Goodwill 30,000 - -
Fixed Assets 2,00,000 | 3,00,000 | 1,80,000
Investment
(acquired on 1% April 2012 at cost)
3,000 Equity shares in Y Ltd. 3,50,000 - -
1,200 Equity shares in Z Ltd. - | 1,40,000 -
Stock 50,000 40,000 20,000
Debtors 5,000 30,000 5,000
Cash at Bank 5,000 15,000 5,000
6,40,000 | 5,25,000 |2,10,000
Further Information

1)  On I**April 2012, Credit balance in profit and loss Account before taking
into account proposed dividend.

X Ltd. Rs. 80,000
Y Ltd. Rs. 48,000
7 1td. Rs. 3,000
2) 10% dividend was distributed by X Ltd for the year 2011-12 on 30"
June 2012.
3) Proposed dividend for 2012-13 to be paid wholly from the profits for
the year are
X Ltd. — 10%
Y Ltd. - 5%
Z 1td. — 10%

From the above information prepare a consolidated balance sheet as on
31-3-2013.

03) M.Co.Ltd. went into voluntary liquidation on 31-3-2013. The following
balances are extracted from its books on the date.
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Liabilities Rs. Assets Rs.

Capital

50,000 Equity shares of | 5,00,000 | Building 1,50,000

Rs.10 each Plant and Machinery 2,10,000

Debentures (secured by

floating charge) 2,00,000 | Stock 95,000

Bank overdraft 30,000 | Book debts 75,000

Creditors 40,000 | Less-provision — 10,000 65,000
Calls-in-arrear 1,00,000
Cash in hand 10,000
Profit and loss A/c 1,40,000

7,70,000 7,70,000

1) Following assets are valued as under

Rs.

Plant and machinery 1,50,000

Building 1,20,000
Stock 80,000
Book debts 70,000

2) Calls in arrear are expected to realise 90%.
3) Bank overdraft is secured against building.
4) Preferential creditors for taxes and wages are Rs. 6,000.

Prepare statement of affairs to be submited to the meeting of creditors.
[20]
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04) Following was the trial balance on 31 - 3 - 2013 of Delhi branch of an American

firm having Head office in New York. [20]
Trial Balance

Particulars Dr. Cr.
Rs. Rs.
Stock (1 -4-12) 12,600 -
Purchases and sales 75,000 1,12,500
Debtors and Creditors 39,000 26,000
Bills receivable and bills payable 10,400 9,100
Salary and wages 4,800 -
Rent, Rates and Taxes 5,100 -
Furniture 4910 -
Cash at Bank 28,990 -
New York Account - 33,200
1,80,800 1,80,800

On 315t March 2013 the stock valued at Rs. 32,500. The debit Balance of the
branch account in New York books on 31 March 2013 was $ 2680 and
Furniture Account appeared at $ 350. On 315 March 2013 there was cash in
transit from Delhi to New York amounted to Rs.2,600. The rate of exchange
was Rs.28 on 31 - 3 -2012. On 31 March 2013 was Rs. 26 and average rate
of the year was Rs.24.

Prepare branch profit and loss A/C and balance sheet in the Head office
book.
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05) The following is the balance sheet of Bajaj Ltd. ason 31 -3 -2013 [20]

Balance sheet of Bajaj Ltd.

31-3-13

Liabilities Rs. Assets Rs.
Issued or subscribed capital Goodwill 5,000
1,000 Eq.shares of Rs.100 each Land and building | 1,05,000
Fully paid 1,00,000 | Machinery 55,000
1,000 redeemable preference Stock 45,000
Share of Rs.1,000 each Fully paid | 1,00,000

Debtors 20,000
General reserve 15,000 | Cash in hand 5,000
Dividend equalisation Reserve 5,000 | Cash at Bank 1,15,000
Employee's compensation fund 5,000 | Investment in

National certificate 5,000
Provision for taxation 5,000 | Preliminary expenses 5,000
Employee's saving account 10,000
Sundry creditors 20,000
Profit and loss A/c 1,00,000

3,60,000 3,60,000

On 1% April 2013 all the preference shares were redeemed at a premium of Rs.
10 per share out of the profits otherwise available for dividends.

You are asked to ascertain the intrinsic value of each of the equity shares
by Assets banking methods on the basis of the balance sheet immediately
after redemption of preference shares.
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Take into account the following information,
1) Goodwill to be taken at Rs. 50,000
2)  10% of sundry debtors are bad.

3)  Aclaim for compensation to an employee has been admitted on 1 -4 - 2013.
for Rs.1,000

4)  All the other assets are taken at their book values as shown in the above
balance sheet.

OR

What is Leasing? State in detail the advantages and disadvantages of leasing.

SISIS
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P3436 [Total No. of Pages : 3

[4764] - 104
M.Com. (Part - 1) (Semester - I)
ADVANCED COSTACCOUNTINGAND COST SYSTEMS
(Special Paper - I) (Group - B)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) Attempt all questions.

2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

Q1) a) Fillinthe blanks: [5]

i)  Carriage on purchase is a part of direct cost.
i)  Abnormal costs are ultimately charged to

iii) is a quantitative record of each material maintained by
the storekeeper.

iv) Under method of job evaluation, each job is analysed in
terms of job factors.

v)  High remuneration attracts labourforce.
b) State whether the following statements are true or false. [5]
i)  Job costing is applicable in industries like ship building.
i)  ABC analysis is introduced for material control.
i) Royalty is treated as direct expense.

iv) A sound wage system should ensure minimum guaranteed wages to
each worker.

v) Job evaluation facilitates management placements, transfers &
promotions.

02) Discuss the stages in product life cycle along with its characteristics.  [20]
OR

Write down the steps and various documents used in purchase procedure.

PTO.



Q3) Write short notes on (any two) : [20]
a) Material cost.

b) Methods of remuneration.

c) Jobevaluation.

d) Absorption of overheads.

04) A company has 3 production departments A, B & C and 2 service departments
X &Y. The following information is available regarding various expenses.|[20]

Rs. Rs.
Power 2,400 Maintenance of buildings 2,400
Rent 4,200 Fire precaution service 1,200
Canteen 3,000 Insurance on assets 1,000
Personnel 3,000 Depreciation (10% of capital value)
Department

Time office 1,000

Production Departments Service Departments.

A B C X Y

Area sq. metres | 4,000 4,000 3,000 2,000 1,000
kW Hours. 2000 2,200 800 750 250
No. of workers 900 1,200 300 400 200
Capital Value of
Assets (‘000) Rs. 50 60 40 30 20
The services of X & Y departments are used by the other departments in the
following proportion.

A B C X Y
X | 25% 30% 25% - | 20%
Y |40% 20% 30% 10%

Calculate the total overheads of production departments after reapportioning
service departments overheads by repeated distribution method.

[4764] - 104



05) The information given below has been taken. From the cost records of an
engineering works in respect of Job no. 100. [15]

Materials - Rs. 4,010

Wages - Department A - 60 hours @ Rs. 3 per hour
Department B - 40 hours @ Rs. 2 per hour.
Department C - 20 hours @ Rs. 5 per hour

The overhead expenses are as follows.

Variable - Department A - Rs. 5,000 for 5,000 labour hours
Department B - Rs. 3,000 for 1,500 labour hours
Department C - Rs. 2,000 for 500 labour hours

Fixed Rs. 20,000 for 10,000 working hours.

Calculate the cost of Job no 100 and price for the job to give a profit of 25
per cent on selling price.

06) From the following particulars prepare : [15]
a) Contract account
b) Contractee’s account and also show the relevant entries in Balance Sheet.

Rs.
Materials sent to site 85,349
Labour engaged on site 74,375
Plant installed 15,000
Direct Expenditure 4,126
Establishment charge 3,167
Materials returned to stores 549
Work certified 1,95,000
Work uncertified. 4,500
Materials on hand on 31 Dec. 1,883
Wages accrued on 31% December 2,400
Direct expenditure accrued on 315 Dec 240
Value of plant on 31 Dec. 11,000

Contract price agreed Rs. 25,00,000 and cash received from contractee
Rs. 1,80,000

OO0
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Total No. of Questions : 5] SEAT No. -

P3437 [Total No. of Pages : 4
[4764]-105
M.Com. (Part - I) (Semester - I)
BUSINESS PRACTICES AND ENVIRONMENT
Organised Trades and Markets
(2008 Pattern) (Group - C) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define the term ‘Business’. State and explain objectives of Business in the

modern context. [20]
OR

Briefly discuss the role of State Trading Corporation and the Food Corporation

of India.

02) What do you know about the Development of Service Sector in India? [20]
OR

Explain the term ‘Co-operative Marketing’. State its functions and advantages.

03) Explain the meaning & features of Organized Commodity Markets & Regulated
Markets. [20]

OR
Write a detailed note on role and functions of SEBI.

04) a) Explain the product buying and selling price policies adopted in business.
[10]

b) Write a note on business practices with reference to E-commerce. [10]

PTO.



OR
a) Discuss the arguments for and against State Trading Corporation.

b) Explain the constitution and management of SEBI.

05) Short notes (Any two) : [20]
a) Credit policy of business.
b) Importance of forward market.
c) Objectives of co-operative marketing.

d) Privatization of trading activity.

OO0
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P3437 [4764]-105
M.Com. (Part - I) (Semester - )
BUSINESS PRACTICES AND ENVIRONMENT
Organised Trades and Markets
(2008 Pattern) (Group - C) (Special Paper - I)
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P3438 [Total No. of Pages : 4
[4764]-106
M.Com. (Part - I) (Semester - I)
BUSINESS ADMINISTRATION
Production and Operations Management
(Group - D) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Explain the concept of production management. State the objectives and
functions of production management.

OR

Define ‘Production Management’. Discuss various types of production systems
in brief.

02) What is product Design? Explain important characteristics of good design.
OR

What is production planning? Explain the objectives and importance of
production planning.

03) Explain the concept of store keeping. What are the objectives and functions of
store keeping?

OR

What is Logistic Management? Explain scope and importance of Logistic
Management.

PTO.



04) What is productivity? Explain the factors affecting on productivity.
OR
Write notes :
a) Production control factors.

b) Need of Quality Management.

05) Write short notes on (Any four) :
a) Techniques of product Development.
b) Service systems
c) Inventory control.
d) Materials Handling
e) Quality circles.
f) Kizen.

OO NO NS
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M.Com. (Part - I) (Semester - )
BUSINESS ADMINISTRATION
Production and Operations Management
(Group - D) (Special Paper - 1)
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P3439 [Total No. of Pages : 4
[4764]-107
M.Com. (Part - I) (Semester - I)
INFORMATION SYSTEM AND E-COMMERCE PRATICES
Commercial Laws & Practices
(2008 Pattern) (Group - E) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Define E-Commerce. Explain the advantages and limitations of E-Commerce.
[20]

OR

Explain the process of electronic Shopping.

02) What is Global Information System? State the benefits of Global Information
System. [20]

OR

Define Extranet. Explain the relationship between Internet, Intranet and Extranet.

03) Explain the purchase procedure with reference to E-Commerce. [20]
OR
Write note on :
a) Electronic Commerce Portals.
b) Advantages of Portals.

04) a) Define Electronic Data Interchange. Explain the benefits and limitations

of Electronic Data Interchange. [20]
OR
b) What are the components of Internet? Explain the various business use
of Internet.

PTO.



05) Write short notes on (Any four) :

a)
b)
c)
d)
e)
f)

Supply Chain Management.
Application of Extranet.
Electronic Fund transfer.
Scope of E-commerce.

Interactive Advertising.

Electronic Data Interchange Gateways.

OO NO NS
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INFORMATION SYSTEM AND E-COMMERCE PRATICES

Commercial Laws & Practices
(2008 Pattern) (Group - E) (Special Paper - I)
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P3440 [Total No. of Pages : 4
[4764]-108
M.Com (Part - I) (Semester - I)

CO-OPERATION & RURAL DEVELOPMENT
Co-Operative Movement In India
(2008 Pattern) (Group - F) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Explain the steps taken by government in five year plans for the development
of Co-operatives.

OR

Comment on the effects of globalisation on Co-operative sector in India.

02) Discuss the amendments in Maharashtra State Co-operative societies Act. 1960
regarding the provisions of management and settlement of disputes of
Co-operatives

OR

Explain in brief the provisions of Maharashtra state Co-operative societies Act
1960 regarding registration and liquidation of Co-operatives.

03) Evaluate administrative control over credit Co-operatives in Maharashtra.
OR

Explain the recommendations of vaidyanathan committee and its impact on
Co-operatives.

PTO.



04) Discuss the role of Maharashtra Rajya Sahkari Bank in Co-operative credit.
OR
Explain the role of NABARD in Co-operative credit since 1991.

05) Write short notes (Any two)
a) Co-operative Movement and second world war.
b) Member of Co-operatives and their rights.
c) Mirdha committee report.

d) Maharashtra state Co-operative societies Act. 1960 and properties and
funds of Co-operatives.

OO NO NS
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CO-OPERATION & RURAL DEVELOPMENT

Co-Operative Movement In India
(2008 Pattern) (Group - F) (Special Paper - I)
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Total No. of Questions : 5] SEAT No. -

P3441 [Total No. of Pages : 4
[4764]-109
M.Com. (Semester - I)
ADVANCED BANKING AND FINANCE
Legal Framework of Banking
(2008 Pattern) (Group - G) (Special Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) “The applicability of the Banking Regulation Act, to the commercial and
cooperative banks remains uniform”. Do you agree? Explain your answer in

detail.
OR
Compare the three negotiable instruments, in detail, on the basis of
a) Parties b) Acceptance
c) Grace days d) Maturity

02) Can holder and holder in due course be treated as parties to negotiable
instrument? Explain in detail the various parties to the following negotiable
instruments.

a) Promissory note
b) Bill ofexchange
c) Cheque
OR

What does ‘Noting and Protest’ mean? Explain the following provisions of
the Negotiable Instruments Act, 1881 pertaining to protest.

a) Protest for better security.
b) Notice of protest.

c) Protest for non payment after dishonor by non acceptance.

PTO.



03) Explain in detail provisions of the RBI Act, 1934 pertaining to cash reserves of
scheduled banks to be kept with the RBI.

OR

Explain the following definitions from Foreign Exchange Management
Act, 1999.

a) Current account transactions
b) Capital account transactions
c) Security

d) Service

04) Explain in detail the following definitions from the Securitisation Act, 2002.

a) Asset reconstruction b) Originator
c) Default d) Obligor
OR

Explain the provisions of Securitisation Act, 2002 pertaining to
a) Registration of securitization or reconstruction companies.

b) Cancellation of certificate of registration.

05) Write notes on (Any two) :

a) Restrictions on the business of banking companies under the Banking
Regulation Act, 1949

b) Punishments for dishonour of negotiable instruments.
c) Penalties as under the RBI Act, 1934.

d) Directorate of Enforcement.

OO0
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Total No. of Questions : 5]

P3441
[4764]-109
M.Com. (Semester - I)
ADVANCED BANKING AND FINANCE
Legal Framework of Banking
(2008 Pattern) (Group - G) (Special Paper - I)
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Total No. of Questions : 5] SEAT No. -

P3442 [Total No. of Pages : 4
[4764]-110
M.Com. - | (Semester - I)
Advanced Marketing Marketing Techniques (Special Paper - I)
(2008 Pattern) (Group - H)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Enumerate role and functions of Sales Manager. [20]
OR

What is the meaning of marketing Environment? Explain components of Internal
and External marketing environment.

02) What do you mean by marketing research? Explain the types of marketing
research. [20]

OR

Describe types and techniques of marketing control.

03) What is meant by sales Budgeting? State objectives, importance and limitations
of sales budgeting. [20]

OR

Explain recent trends in marketing communication.

04) Explainrole of Advertising & Advertising Media. [20]
OR

Explain the importance of rural marketing. State the problems of rural marketing
and remedies for removing the problems.

PTO.



05) Write short notes (on any four) :

a)
b)
c)
d)
e)
f)

Qualities of Good Salesman.
Branding and packaging.
Shopping malls.

Service marketing.

Types of Marketing Audit.

Test marketing of a new product.

OO NN
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M.Com. - | (Semester - I)

Advanced Marketing Marketing Techniques (Special Paper - I)

(2008 Pattern) (Group - H)
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Total No. of Questions : 6] SEAT No. :
P3443

[Total No. of Pages : 5
[4764] - 111

M.Com. (Semester - I)
ADVANCED ACCOUNTING AND TAXATION
Income Tax (Group -A) (Paper - 11)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right in bracket indicates full marks

Q1) Explain the following (Any Two) [15]
a) Exempt Income U/s.10.
b) Residential status of Hindu Undivided Family.
c) Determination of Business Income U/s.44AE of Income Tax Act, 1961.

d) Inter head and Inter Source adjustments in set off and carry forward of
losses.

02) Write Short notes (Any Three) [15]
a) Agricultural Income
b) Computation of Capital Gain
c) Income from other Source
d) Income of minor child

e) Deduction U/s.80C of Income Tax Act,1961

03) Mr. L ( Age 64 years), an employee of a private sector transport company,
based at Pune and covered by the payment of Gratuity Act, retires on 31%

December, 2014 after of 34 years and 7 months. At the time of retirement his

PTO.



employer pays ¥20,61,530 as gratuity and ¥5,00,000 as accumulated balance
of recognized provided fund. He is also entitled for a monthly pension of
T 7000/-. He gets 70% of pension commuted for ¥ 2,10,000 on I** February
2015. Determine the taxable income and tax liability for the assessment year

2015-2016 with the help of the following information. [16]
Basic Salary : : < 90,000 p.m.
Bonus Received during the year : T 36,000/-
Special Allowance received during the year : : T 2,20,000/-
House Rent Allowance : < 14,000 p.m.
Rent paid by Mr. L : < 11,000 p.m.
Employer’s Contribution towards RPF : T 1,10,000/-
Mr. L’s Contribution towards RPF : < 1,20,000/-
LIC Premium paid on policy : T 8,000/-
Professional Tax paid by Mr. L : T 1,800/-
Income from other Sources : T 8,47,540/-

Salary and pension falls due on the last day of each month. As per terms of
employment Mr. L and his family members can use deluxe buses operated by
the employer company but only once in a year ( value of facility enjoyed by

Mr. L and family member during October 2014 is ¥ 9,000/-, a sum of
T 3,000/- 1s recovered from Mr. L.

On an official tour of Mr. L to Cochin (October 10, 2014 to October 20,
2014), Mrs. L. accompanied him (total expenditure incurred by employer on

providing this facility to Mrs. L. € 19,700/- , amount recovered from Mr. L
Rs. 1,000)
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04) Mr. P (age 30 years) furnishes the following information relevant to the
Assessment year 2015 - 2016. [16]

Profit and Loss Account for the year ending 31.03.2015

Particulars 4 Particulars Z
Office Expenses 45000 | Gross Profit 803000
Sundry Expenses 39000 | Sundry Receipts 11000
Entertainment Expenditurel 5000 | Bad Debts Recovered ( not 7100
Audit Fees 12000 | allowed as deduction earlier)

Legal Charges 4000 | Custom Duties recovered 32500
Extension of Building 6000 | from the Government (earlier
Depreciation on plant & 23000 | allowed as deduction)

Machinery Gift received from father 43000
Salary to Staff:

Salary 43000

Bonus 36000

Contribution towards:

Employee’s RPF 15000

Unapproved Gratuity Fund | 4000

Sales Tax 57000

Provision for sales tax 25000

Net Profit 582600

Total 896600 | Total 896600
Other Information:

i)  Mr. P Purchases a plant of ¥ 30,000 for the purpose of carrying on
scientific research related to his business, neither cost of plant nor
depreciation thereon is debited to profit and loss account.

i)  Out of bonus of T36000, T4000 is paid during 2014-15 and T26000 is

paid by 30" April 2015.The balance of 6000 is however to be paid on
Novemberl0,2015.

i) Depreciation on plant and machinery and extension of building as per
income tax provision is ¥ 19000/-.

iv) Sales Tax of ¥57000/- includes a) Interest for late payment of sales tax
of ¥ 1200/- and, b) Penalty for evading sales tax Rs.10,000/-.
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Vi)

Provision for sales tax represents an outstanding sales tax liability, which
is however paid on 10.05.2015.

Salary to staff includes a payment of pension of ¥ 5000/- to the widow
of former employee.

Ascertain the net income and tax liability of Mr. P for the assessment
year 2015-16, assuming that he deposits T 20,000/- in public provided
fund account during the previous year 2014-2015 and his income from
other sources is T 106000/-.

05) Mr.O (64 year old) owns two houses. Relevant details are given below: [16]

Particulars House I House II

Let Out 01.4.14t030.06.14 01.7.14t0 31.3.15
(Rent £6000 Per month| (Rent ¥15000Permonth

Self Occupied 01.7.14t0 31.3.15 01.04.14t030.06.14
< <

Municipal Value P.a. 60000 100000

Fair Rent p.a. 70000 95000

Standard Rent p.a. 66000 110000

Rent of Let out period 18000 135000

Interest on Borrowed Capital | 2000 40000

Municipal Tax Paid 10000 17000

06)

Assuming that income of Mr. O from business is T 12,00,000 and deposits

T 70,000/- in public provided fund, find out his Taxable income for the
Assessment year 2015 - 16.

a)

Mrs.S sells agricultural land situated in an urban area ¥ 11,51,000/-
(Brokerage paid @2%) on 31% march 2015. Cost of acquisition of said
land was Rs. 1,01,000 on 1 March, 1987 and is used for agricultural
purpose since 1990.on 31 March 2015, he owns one residential house
property. On 6™ April 2015, he purchase the following assets. [10]
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i)  Agricultural land at €1,50,000/- and

i)  Aresidential house property at ¥5,00,000/-

Find out capital gains chargeable to tax for assessment year 2015-2016.Cll
for the years are - 1986-87 : 140, FY2014-15: 1024

b) Mr. R a resident individual submits the following information for the

Assessment year 2015-2016. [12]
Particulars Amount ¥
Business A

Loss of previous year 2014-15 145000
Brought forwards loss of the previous year 2013-14 180000
Business B

Profit of the previous year 2014-15 165000
Business C (Discontinued on 10.04.14)

Profit for the period 01.04.14 to 10.04.14 18500
Brought forward loss of previous year 2013-14 36500
Business D (Business Discontinued on 31.03.2014)

Brought forward loss of previous year 2013-14 124000
Other Income received during the year is as under-

Interest on debentures held as stock in trade 168000
Interest on bonds held as Investment 204000
Long Term Capital loss on sale of share 154000
Income from house property 144000
Dividend on shares 180000

Determine the net income of Mr. R for the assessment year 2015-16.Also
calculates the amount of loss which can be carried forward for being set
off to the next Assessment Year.

SISIS
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Total No. of Questions : 5] SEAT No. :
P3444

[Total No. of Pages : 3
[4764] - 112

M.Com. (Semester - I)
ADVANCED COST ACCOUNTING AND COST SYSTEMS
108 - Costing Techniques and Responsibility Accounting (Paper - I1)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2) Figures to the right indicate full marks.
3)  Use of calculator is allowed.

Q1) a) Fillinthe blanks. [5]
) is prepared prior to a defined period of time.
i)  The objective of uniform costing is to eliminate  competition.
iii) Standard Cost is cost.
iv) Uniform Cost Manual is used in Costing.
V) Accounting is based on organization structure.
b) State whether the following statements are true or false. [5]

i)  Variance is the difference between standard cost and actual cost.

i) Uniform costing does not require secrecy among participating
members.

i) There is difference between standard and budget.
iv) For job evaluation Responsibility accounting is not useful.

v) Interfirm comparison is the technique of comparing performance
of a similar business units.

c)  Write short notes on any two. [10]
i)  Uniform Cost manual.
i) Key Factor.
i) Cost Centers.

iv) Controllable arid Non-controllable costs

PTO.



02) What is Responsibility Accounting? What are Principles of Responsibility
Accounting? Explain in Cost Centre and Revenue Centre. [20]

OR

What is Interfirm comparison? Explain the application, Advantages and
limitations of Uniform Costing.

03) a)

b)

Calculate Labour Cost, Labour Rate and Labour Efficiency variance
from the following information. [10]

The standard data for component A is given below.
Standard hours 15,000, standard rate Rs. 40 per hour.
The actual data and related information are as under
Actual hours 15,300 hours

Actual Rate Rs. 45 per hour

What is Uniform Costing? Explain essential requirements of Uniform
Costing. [10]

04) Summarized below is the forecasts of income and expenditure of A Ltd. for

the months of March to August 2014. [20]
Month | Credit Credit | Wages | Manufactu- | Office Selling
sales (Rs.)| purchase| (Rs.) | ring Expenses | Expenses
s(Rs.) Expenses | (Rs.) (Rs.)
(Rs.)
March | 1,60,000 |1,36,000 | 19,000 | 4,000 2,000 4,000
April | 1,62,000 |1,38,000 | 18,000 | 3,000 1,500 5,000
May | 1,64,000 |1,33,000 | 20,000 | 4,500 2,500 4,500
June | 1,58,000 |1,35,000 18,500 3,500 2,000 3,500
July 1,56,000 |1,39,000 | 19,000 | 4,000 1,000 4,500
August| 1,60,000 |1,34,000 | 18,000 | 3,000 1,500 4,500

You are given the following information.

Plant costing Rs. 60,000 is due for delivery in July 2014, payable 10,000 on
delivery and balance in next two months equally.

Advance Income Tax of Rs. 18,000 is payable in June 2014,

A period of credit is allowed by suppliers 2 months and to customers one
month.

Lag in payment of all other expenses one month.

You are required to prepare a Cash Budget for three months starting on 1%

May

[4764] - 112
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05) From the following information calculate

a) Material cost variance.

b) Material Price variance.

c) Material Usage variance.

d) Material Mix variance. And verify the results.

Material Standard Actual

Qty | Rate| Amount | Qty| Rate Amount
Kg. | Rs. | Rs. Kg.| Rs. Rs.

A 50 |20 1000 40 | 50 2000

B 30 | 30 900 20 | 30 600

C 20 | 40 800 30 | 30 900
100 2700 90 3500

SISIS
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Total No. of Questions : 5] SEAT No. :
P3445

[Total No. of Pages : 2
[4764] - 113
M.Com. (Semester - I)
BUSINESS PRACTICES AND ENVIRONMENT
Business Environment and Policy
(2008 Pattern) (Group - C) (Special Paper - II)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry equal marks.

Q1) What do you mean by business environment? Describe the nature and scope
of business environment.
OR
What is environment? State the impact of political and legal aspects of
environment on business.

02) Explain in detail the business environment before independence in India.
OR
What is economy? Describe the profile of Indian economy.

03) Define the term poverty. Discuss the causes of poverty.

OR
What is pollution? State the effects of pollution on business environment.

04) a) Write a detail note on educational aspect of environment.
b) Discuss the impact of globalisation on business environment.

05) Write short notes: (Any Two)
a) Macro environment.
b) Economic reforms.
c) Parallel economy.
d) Effects of air pollution.

SISIS
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Total No. of Questions : 5]

P3445 [4764] - 113
M.Com. (Semester - I)
BUSINESS PRACTICES AND ENVIRONMENT
Business Environment and Policy

(2008 Pattern) (Group - C) (Special Paper - II)
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Total No. of Questions : 5] SEAT No. :
P3446

[Total No. of Pages : 4
[4764] - 114
M.Com. (Semester - I)
BUSINESS ADMINISTRATION
Financial Management
(2008 Pattern) (Group - D) (Special Paper - II)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2) All questions carry equal marks.
3)  Use of calculator is allowed.

Q1) Define the term financial management. Explain various goals of financial

management.

OR
What is Capital Budgeting? Explain various types of capital investment
decisions.

02) What is financial statements? State the utilities and limitations of financial

statements.

OR
Define the term working capital. Describe the factors affecting working capital
requirements.

03) What is Inventory? Discuss the role of Inventory Management.
OR
a)  Write a detail note on trends in Indian financial system.
b) Explain the capital expenditure decisions.

04) From the following balance sheet of Mafatlal Mills Limited, Mumbai calculate
the following ratios:

a) Current Ratio

b) Liquid Ratio

c) Absolute Ratio

d) Current assets to fixed assets ratio
e) Debt to equity ratio
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Balance Sheet
ason31-03-2013

Liabilities Amount| Assets Amount
Rs. Rs.

Equity share capital 10,00,000 | Good will 5,00,000
6% preference share capital| 5,00,000 | Plant and Machinery 6,00,000
General Reserve 1,00,000| Land and Building 7,00,000
Profit and Loss Account 4,00,000 | Furniture 1,00,000
Provision for Taxation 1,76,000 | Inventories 6,00,000
Bills Payable 1,24,000 | Bills Receivables 30,000
Bank Overdraft 20,000| Sundry Debtors 1,50,000
Sundry Creditors 80,000 | Bank 2,00,000
12% Debentures 5,00,000| Investment (Short-Term)| 20,000

Total :|29,00,000 Total 129,00,000

OR

State various types of Ratios with their importance and limitations.

05) Write short notes (any Two)

a) Fund Flow Analysis

b) Significance of Ratios

c) Credit policy

d) Goals of Receivables Management
[4764] - 114 2



Total No. of Questions : 5]

P3446 [4764] - 114
M.Com. (Semester - I)
BUSINESS ADMINISTRATION
Financial Management

(2008 Pattern) (Group - D) (Special Paper - II)
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Total No. of Questions : 5] SEAT No. :
P3447

[Total No. of Pages : 4
[4764] - 115
M.Com. (Part-1) (Semester - I)
COMMERCIAL LAWS & PRACTICES
Intellectual Property Laws
(2008 Pattern) (Group - E) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Throw a light on basic concepts of Intellectual Property Laws with different
forms of Intellectual Property Rights. [20]

OR

Discuss in detail unfair practices in Intellectual Property Laws.

02) Explain meaning & purpose of patent with patentable & non-patentable
inventors. [20]

OR

Discuss the different Appellate Authorities with power & obligations under
patents (Infringement & Authorities) Act.

03) Explain in detail different forms of protecting trade mark & good will with
suitable examples. [20]

04) What are the qualifications, disqualifications & rights of a Patent Agent. [20]
OR

Explain in detail need, purpose, features & different definitions under
Biodiversity Act 2002.

PTO.



05) Write short note (Any four):

a) Commercial exploitation of Intellectual Property.
b) Rights & obligations of patent holder (Patentee).
c) Assignment & transmission of registered trade mark.
d) State Biodiversity Authority.
e) Nature of Intellectual Property Laws.
f)  Registration Procedure of Trademark.
SISIS)
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M.Com. (Part - 1) (Semester - I)
COMMERCIAL LAWS & PRACTICES
Intellectual Property Laws

(2008 Pattern) (Group - E) (Special Paper - II)
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Total No. of Questions : 5] SEAT No. :
P3448

[Total No. of Pages : 4
[4764] - 116

M.Com. (Part-1) (Semester - I)
CO-OPERATION & RURALDEVELOPMENT
Organisation of Co-Operative Business
(2008 Pattern) (Group - F) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Discuss the advantages of integrating the principles of co-operation and
management.

OR

Explain the need of professionalisation of co-operative management. Discuss
the steps involved in it.

02) Explain in brief organisation structure of co-operatives in India. State its features.

OR

Discuss the importance of communication and leadership in co-operative
organisation.

03) Evaluate the role of state co-operative union in co-operative training.
OR

What is co-operative training? Explain the importance of Job oriented co-
operative training.

04) Discuss the programmes implemented by vaikunth Mehata National co-
operative Institute in co-operative education since 2005.

OR

"Co-operative education and training is a pre-requisite of success of any co-
operatives" Discuss.

PTO.



05) Write short notes (Any two)
a) Non-Agricultural credit co-operatives.
b) Draw backs and problems of sugar co-operatives in Maharashtra.
c) Leadership in co-cperative Banks.

d) District co-operative union.

SISIS
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P3448 [4764] - 116
M.Com. (Part - 1) (Semester - I)
CO-OPERATION & RURALDEVELOPMENT
Organisation of Co-Operative Business

(2008 Pattern) (Group - F) (Special Paper - II)
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Total No. of Questions : 5] SEAT No. :
P3449

[Total No. of Pages : 4
[4764] - 117

M.Com. (Semester - I)
ADVANCED BANKINGAND FINANCE
Central Banking (Group - G) (Special Paper - II)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) “The functions of a central bank that distinguish them from a commercial
bank are the founding stones behind their evolution across the globe.”
Do you agree or not? Justify your answer.

OR
Explain in detail the establishment of the Reserve Bank of India.

02) Explain in detail RBI’s function of note issue with reference to:
a) Asset backing
b) Distribution of currency

OR

How does the RBI manage the public debt? What have been the innovations
in debt instruments introduced by the RBI in managing the public debt?

03) Spell out the RBI guidelines pertaining to:
a) Opening of new banks in India
b) Branch licensing
OR

Spell out in detail the regulation of foreign banks in India with special reference to:
a) Their establishment
b) Share capital
c) Reserve fund
d) Accounts, Balance sheet and Audit

PTO.



04) Explain in detail how the RBI exercises its control over management.

OR

What are Non Banking Finance Companies (NBFCs)? Explain in detail the
regulatory framework for the NBFCs in India.

05) Write notes on (Any two)

a) Currency chests: mechanism and operations
b) Appraisal of the recent developments in the currency management
c) RBI as a banker to the state government
d) Setting up of subsidiaries of commercial banks
[4764] - 117
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P3449

[4764] - 117
M.Com. (Semester - I)
ADVANCED BANKINGAND FINANCE
Central Banking (Group - G) (Special Paper - 1)

(2008 Pattern)
(w73t FUTaR)
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Total No. of Questions : 5] SEAT No. -

P3450 [Total No. of Pages : 4

[4764]-118
M.Com. - | (Semester - 1)
ADVANCED MARKETING

Consumer Behaviour
(2008 Pattern) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is ‘Consumer Behaviour’? Why to study Consumer Behaviour in

Marketing?

OR
Explain the role of media in consumer decision making process with suitable
examples.

02) Write notes on :
a) Consumer perception of risk.
b) Negative motivation.
OR

What is ‘Attitude’? Describe factors involved in Attitude formation.

03) State various steps of Consumer Research process.
OR

Explain in detail consumer protection legislation in India.
04) State components of learning process.

OR

State internal and external factors affecting perception of consumers.

PTO.



05) Write short notes on (any four) :

a)
b)
c)
d)
e)

Rural consumer.

Stimulus generalisation.

Methods of collecting primary data.
Business Ethics.

Positive Motivation.

OO NN

[4764]-118 2



Total No. of Questions : 5]

P3450
[4764]-118
M.Com. - | (Semester - 1)
ADVANCED MARKETING

Consumer Behaviour
(2008 Pattern) (Special Paper - 1)
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Total No. of Questions : 5] SEAT No.

P3451 [Total No. of Pages : 4
[4764] - 201
M.Com. (Part - I) (Semester - I1)
FINANCIAL ANALYSIS AND CONTROL
(2008 Pattern) (Compulsory)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) CADBURY Limited, Mumbai wants to purchase a new machine for the
company. There are three alternative available, the details of which are as
follows:

Particulars Machine A Machine B Machine C

Cost Rs.6,00,000 Rs. 5,00,000 Rs. 6,00,000
Life 5 Years 5 Years 5 Years
Year Net profit after depreciation and tax

1 70,000 10,000(Loss)  1,50,000

2nd 60,000 30,000 1,00,000

3w 50,000 50,000 50,000

4th 60,000 1,00,000 30,000

5t 70,000 1,50,000 20,000

Depreciation has been charged by straight line method. The company expects
minimum rate of return at 10% at which the present value of Rupee one to be
received at the end of each year is given below:

Year 1 2 3 4 5
Present Value 0.909 0.826 0.751 0.683 0.621

PTO.



You are required advise the management which of the alternative machines is
the best on the basis of the following methods appraisal:

a) Pay back method
b) Netpresent value
c) Profitability index

d) Average return on average investment

02) Eskay Ltd. Ernakulam wishes to prepare Cash Budget from January. Prepare
a cash budget for the first six months from the following estimated revenue
and expenses of 2013.

2013 Total | Materials | Wages Overheads
Sales Production Selling and
Months Rs. Rs. Rs. Rs. Distribution
Rs.
January | 20,000 | 20,000 | 4,000 3,200 800
February | 22.000 14,000 | 4,400 3,300 900
March | 24,000 14,000 | 4,600 3,300 800
April 26,000 12,000 | 4,600 3,400 900
May 28,000 12,000 | 4,800 3,500 900
June 30,000 16,000 | 4,800 3,600 1,000

Cash balance on 1% Jan. 2013 was Rs.10,000. A new machine is to be
installed at Rs.30,000 on credit to be repaid by two equal installments in
March and April 2013. Sales commission@ 5% o total sales is to be paid
within the month following actual sales. Rs. 10,000 being the amount of second
call may be received in March 2013. Share premium amounting to Rs.2,000 is
also receivable with second call.

a) Period of credit allowed by suppliers -2 months
b) Period of credit allowed to customers - 1 month
c) Delay in payment of overheads - 1 month

d) Delay in payment of wages - 2 month

Assume cash sales to be 50% of total sales.
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OR

Define ‘Flexible Budget’. Outline advantages of and procedure for setting up
Flexible Budget

03) Whatis Break-Even Analysis? State the assumptions, advantages and limitation
of Break-Even Analysis.

OR

From the following cost data relating to Force India Ltd., Faizpur you are
required to calculate:

a) Sales at Break-Even

b) Profit at budgeted sales

c) Profit, if actual sales be at 80% capacity.
Budgeted sales for the year 2012-2013 Rs.12,00,000
(At 100% capacity)

Rigid cost in total Rs. 1,00,000
Chargeable expenses 02% of sales
Variable manufacturing overheads 10% of sales

Administrative and selling on cost - variable 08% of sales
Direct materials 35% of sales

Prime cost labour 20% of sales

04) Whatis Overhead Variance? What are the different types of overhead variance?
How are they calculated and dealt with?

OR

In Mafatlal Mills Ltd., Mumbai standard labour cost of producing 500 metre
of cloth has been specified as follows :

[4764] - 201 3



1)  Men workers : 20 hours @ Rs.15 per hour
i)  Women workers : 30 hours @ Rs. 10 per hour
The actual cost data for producing 500 metre of cloth is as follows
i)  Men workers 30 hours @ Rs.17 per hour
i)  Women workers : 30 hours @ Rs. 10 per hour
You are required to calculate,
a) Labour cost variance
b) Labour rate variance
c) Labour efficiency variance
d) Labourmix variance

e) Labouryield variance

05) Write short notes: (Any Four)

a)
b)
c)
d)
e)
f)

Key Factor

‘Make’ or ‘Buy’ Decision
Internal Rate of Return
Master Budget

Material Cost Variance

Capital Budgeting
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Total No. of Questions : 5] SEAT No.

P3452 [Total No. of Pages : 4
[4764] - 202
M.Com. (Semester - 1)
RESEARCH METHODOLOGY FOR BUSINESS
(2008 Pattern) (Compulsory)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) a) Explain the importance of Business Research.
b) Explain the types of Research.

OR

Explain the sources of information regarding company & labour market.

02) What is 'Case Study Method'? Explain the steps, merits & demerits of case
study method.

OR
Write notes on following :
a) Classification

b) Tabulation

03) What do you mean by cases in Business Research? Explain the features &
types of cases in Business Research.

OR

Explain in detail the structure of a Research Report.

PTO.



04) Explain in detail the statistical techniques used in Business Research.

OR

Explain the Research Problems in Business functions.

05) Write short notes (Any Four) :

a)
b)
c)
d)
e)
f)

Research Design

Government Sources of Information
Types of Data Bases

Avoiding plagiarism

Organising evidence information data

Evaluation of secondary sources
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P3452
[4764] - 202
M.Com. (Semester - 11)
RESEARCH METHODOLOGY FOR BUSINESS
(2008 Pattern) (Compulsory)
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Total No. of Questions : 5] SEAT No.

P3453 [Total No. of Pages : 4
[4764] - 203
M.Com. (Semester - 1)
INDUSTRIAL ECONOMICS
(2008 Pattern) (Old Course)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) State and explain Inter-relationship between Industrial development and
Economic development.

OR

State and explain factors influencing location of industries.

02) State and explain Sargent Florences theory of industrial location.
OR

Explain impact of industrialisation on employment.

03) Whatis Industrial Productivity? Explain factors affecting Industrial Productivity.

OR

State and explain role and problems of Special Economic Zone in India.

04) State and explain causes of Industrial imbalance in India.
OR

State and explain role and problems of Private Sector in India.

PTO.



05) Write short notes (Any Two) :

a)
b)
c)
d)

Scope of Industrial Economics.
Problems of public sector.
Webers theory of Location of Industries.

Need of Balanced Regional Industrial Development.
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P3453
[4764] - 203
M.Com. (Semester - 11)
INDUSTRIAL ECONOMICS
(2008 Pattern) (Old Course)
(TS EUTR)
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Total No. of Questions : 5] SEAT No.

P3454 [Total No. of Pages : 4
[4764]-204
M.Com. (Semester - 1)
BUSINESS STATISTICS
(2008 Pattern)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4)  Symbols have their usual meanings.

Q1) Attemptany four of the following : [20]
a) Define the following terms :
) Randomvariable.
i)  Probability mass function.
i)  Mathematical expectation.
Iv) Parameter.
v)  Estimator.
b) For the following distribution of discrete random variable X :

X O|1|2|3| 4|65
PX=x)| k |3k [4k [4k]| k| k
)  Find value of k.

i) P(1<X<4)
i) Find P(X > 3)

c) Explain the concept of acceptance sampling.

d) Explain working of single sampling plan.

P.T.O.



e) The following information is collected on two characters :
Cinegoers Non - cinegoers
Literate 83 57
Iliterate 45 65
Based on this information can you conclude that there is no association
between habits of cinema watching and literacy at 5% level of significance.
Given %, =3.81, ,

f)  Arandom sample of 18 pairs of observations from a normal population
gives a correlation of 0.46. Is it likely that the variables in the population
are uncorrelated?

(Use 5% L.O.S., Givent =212t =211,t,=2.10)
Q2) Attempt any four of the following : [20]

a) Arandom variable X has following probability distribution.

X 1 2 3 4 5
P(X =Xx) 0.2 0.15 0.32 0.15 0.18
Find mean and variable of X.
Y =5.82

b) Suppose X — B(n, p) 2
) IfE(X) =6, Var(X) = 4.2, find n and p.

i) If E(X) =10, n=25, find p, Var(X) and SD of X.

c) The mean life of sample of 10 electric bulbs was found to be 1456 hours
with standard deviation 423 hours. A second sample of 17 bulbs chosen
from a different batch showed a mean life of 1280 hours with standard
deviation of 398 hours. Is there a significant difference between the means
of two batches? Use 5% level of significance.

(Givent, = 2.06,t, =2.056, t,,= 2.052)
d) Find 3 yearly centered moving averages for the following data on sales.
Year (2000|101 | 02| 03| 04| 05| 06 [O7| 08 09| 10| 1
Sales 68 62| 61| 63| 65| 58| 66| 61| 68| 63| 63| 67
e) Explain the procedure of large sample test for equality of two population

means.
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f)

Define the terms:

I)  Hypothesis.

i)  Critical region.

i) Type Il error.

Iv) p-value.

v) Level of significance.

Q3) Attempt any four of the following : [20]

a)

For a Poisson distribution P(X =1) =0.031093 and P(X =2) = 0.079288,
find P(X = 0) , P(X = 3) and mean of the distribution.

b) A radar system has a probability of 0.1 of detecting a certain target
during a single scan. Find the probability that the target will be detected
)  Atleasttwice in five scans
i) At most once in five scans.
i)  Thrice in five scans.

¢) A manufacture of ball-bearings guarantees that 2 % of items are defective.
A sample of 1000 ball bearings gave 25 defective. Can you say the
product meets guarantee?[use g¢= 5%]

d) Explain process control and product control.

e) Explain construction of c chart.

f)  State probability mass functions of binomial and Poisson distributions.
Also state that under what conditions they are approximately same.

Q4) Attempt any two of the following: [20]
a) Below are given the means and ranges of 10 samples of size 5 each taken

from a certain production process at regular intervals.

14.2113.9(155(12.1| 141 13.2|129|13.5|13.1|12.8
R [20(|25] 28|25 30| 19| 213931 |21

Givenn =5, D,=0,D,=2115,A,=0577, Draw chart, R chart and
comment.
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b)

Q5) Attempt any Two of the following :

a)

b)

If X — N(20, 10?) find

)  P(X>40)

i) P(X<325)

i) P(15 < X <40)

Iv) E(Y)and Var (Y), where Y = 2X - 6.

Draw P chart for following data of number of defectives in 10 samples
of size 50 each and comment on the result.

8,6,517,2,53,8,4,4

[20]

What do you mean by time series? Explain different components of time
series.

A health club run a weight loss program on 10 women. Test effectiveness
of program at 1% level of significance on the basis of following
observations.

Weights before | 120|125|115(130(|123|119|122|127|128|118
Weights after 111114|107|120(115|112(112|120{ 119|112

Fit a straight line trend to the following time series by the least square
method.

Year 2000 2001 2002 2003 2004
Profit 18 22 28 42 70

Estimate profit for year 2007. Also plot the data one the graph and show
trend line.

*400
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Total No. of Questions : 5] SEAT No. -

P3455 [Total No. of Pages : 5
[4764] - 205
M.Com. (Semester - 1)
SPECIALISED AREAS INACCOUNTING
Advanced Accounting and Taxation
(2008 Pattern) (Group - A) (Special Paper - 111)

Time :3Hours] [Max. Marks :100

Instructions to the candidates:-
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of pocket calculator is allowed.

Q1) Whatis Financial Reporting? Explain its importance and limitations in respect
of Mutual Funds? [20]

OR

Write short notes (Any Four) :

a) Demerger

b) Service Tax

c) Advance payment of Income Tax
d) Stock Brokers

e) Value added Tax

f)  Transport Accounting

Q2) Following are the balances from the ledger of Sai Sagar, Hotel, Ratnagiri, on

31% Dec., 2012. [20]
Share Capital 2,50,000/-
Furniture & Fixtures 85,000/-
Freehold premises 47,000/-
Glass & China 11,000/-
Cuttery & plates 5,000/-
Linen 1,000/-
Rates, taxes & insurance 1,000/-
Salaries & Wages 5,000/-

P.T.O.



Stock on 1/01/2012

Wines Rs. 12,000/-, Spirits Rs. 4,000/-, Beers Rs. 20,000/-, Minerals
Rs. 2,000/-, Cigars & Cigarettes Rs. 2000/-

Sundry provision and stores Rs. 5,000/-, Coal Rs. 1,500/-

Purchases :-

Meat Rs. 4,000/-, Fish & Poultry Rs. 4,000/-, Sundry Provision Rs. 5,000/-,
Wines Rs. 20,000/-, Spirits Rs. 10,000/-, Beers Rs. 25,000/-, Minerals
Rs. 5,000/-, Cigarettes & Cigars Rs. 3,000/-

Laundry 1,000/-
Coal & Gas 3,000/-
Electricity Bill 3,000/-
General Expenses 2,000/-
Sales:

Wines Rs. 20,000/-, Spirits Rs. 7,000/-

Beers Rs. 30,000/-, Minerals Rs. 4,250/-

Cigars & Cigarettes Rs. 4,000/-

Charges :

Meals Rs. 75,000/-, Rooms Rs. 25,000/-

Washing Charges Rs. 5,000/, Fires in Bedrooms Rs. 5000/-

Depreciations :

Premises Rs. 2,700/-, Furniture & Fittings is Rs. 4,000/-, Glass & China
Rs. 500/-, Linen Rs. 100/-

Cuttery & Plates Rs. 200/-

Cash at Bank 44,600/-
Cash in Hand 48,600/-
Visitors Alc 64,500/-
Sundry creditors 26,500/-

Prepare Final Accounts for the year ended 31% Dec, 2012.
Stock on 31.12.2012 were -

Wines - Rs. 5,000/-
Spirits - Rs. 3,500/-
Beers - Rs. 6,500/-
Minerals - Rs. 2,000/-

Cigars & Cigarettes Rs. 1,000/-
Sundry provision for stores Rs. 500/- and coal Rs. 100/-
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Q3) Bharat Ltd. Undertook a contract For Rs. 50,00,000/- on 1t July, 2012.  On
30" June 2013 When the accounts were closed, the following details about

the contract were gathered. [20]
Rs.
Material purchased 10,00,000/-
Wages paid 4,50,000/-
General Expenses 1,00,000/-
Plant Purchased 5,00,000/-
Material on hand (30.06.2013) 2,50,000/-
Wages accrued (30.06.2013) 50,000/-
Work certified 20,00,000/-
Cash Received 15,00,000/-
Work uncertified 1,50,000/-
Depreciation of Plant 50,000/-

The above contract contained an escalation clause which read as follows :

“In the event of prices of materials and rates of wages increase by more than
5%, the contract price will be increased accordingly by 25% of the rise in the
cost of materials and wages beyond 5% in each case”. It was found that since
the date of signing the agreement the prices of materials and wage rates
increased by 25%. The value of the work certified does not take into account
the effect of the above clause.

Prepare the contract account. Working should form part of the answer.
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Q4) The Balance Sheet of Poddar Ltd., is as follows.
Balance sheet as on 31-03-2012

[20]

Liability Amount | Assets Amount
Issued & Sub. Capital Freehold Property |1,20,000
10,000 6 ¥2% pref. shares Patents 49,000
of Rs. 10/- each fully paid. 1,00,000 | Book Debts 24,000
12,000 equity shares of Stock 36,000
Rs. 10/- Each fully paid 1,20,000 | Bank 1,000
5% Debentures 20,000 Profit & Loss Alc 30,000
Interest Accrued 4000 | 24,000
Trade Creditors 16,000

2,60,000 2,60,000

The following scheme of reconstruction was duly passed.

a)
b)

c)

d)

9)

h)

Modern Ltd. to be formed to take over the business of Poddar Ltd.

One share of Rs. 5/- fully paid up in Modern Ltd. to be issued for every
three equity shares in Podder Ltd.

Three shares of Rs. 5/- fully paid in Modern Ltd. to be issued for every
five preference shares in Poddar Ltd.

Debenture holders to be paid in full by Modern Ltd.

The creditors in Podder Ltd. to receive 80% of the amount due to them
in fully paid shares of Rs. 5/- each in Modern Ltd. in full settlement.

Patent and debit balance of Profit & Loss account to be written off

Arrears of preference dividends to be cleared by issue of one share of
Rs. 5/- fully paid in Modern Ltd. for every twenty shares held.

Any balance available in the scheme to be used in reducing the value of
freehold property.

Prepare Realisation Account, preference share holders, and equity share holders
Accounts, and computation of purchase consideration.
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Q5) Following is the Trial Balance and additional information of Singhad Public
School, Satara. [20]

Prepare Income & Expenditure Account for the year ended on 31 March,
2012 and a Balance sheet as on that date

Name of the Account Debit Bal. Credit Bal.
Capital Fund 5,00,000
Building 3,00,000
Furniture & Fitting 50,000
Library Books 50,000
Admission fees 45,000
Tution fees 50,000
Exam. fees 20,000
Govt. Grants 2,00,000
Salaries & Wages 2,00,000
Rent for the Hall 2,000
Subscription received 75,000
Donation (Not to be capitalised) 50,000
Investments @ 12% p.a 3,00,000
Sundry receipts 2,000
Printing & stationery 20,000
Telephone Bill 5,000
Exp. on annual social functions 5,000
Cash at Bank 7,000
Cash in Hand 3,000

9,42,000 9,42,000

Additional Information :-

a)  Subscriptions due Rs. 10,000/-

b)  Subscriptions received in advance Rs. 15,000/-
c) Tution fees yet to be received Rs. 5,000/-

d) Salaries & Wages outstanding Rs. 10,000/-

e) Provide depreciation @ 10% on Building, furniture & fitting and library
books.
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Total No. of Questions : 6] SEAT No.
P3456

[Total No. of Pages : 3
[4764] - 206
M.Com. (Semester - 1)

ADVANCED COST ACCOUNTING AND COST SYSTEMS

Application of Cost Accounting
(Group - B) (2008 Pattern) (Special Paper - 111)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1)
2)
3)

Q1) a)

b)

Attempt all questions.
Figures to the right indicate full marks.
Use of calculator is allowed.

Fill in the blanks : [5]

I)  Normal capacity is the capacity during a normal period.

output

i)  Labour productivity (measurement) =

i)  Value chain Analysis is a way of assessing ............ advantages.

V) Is the result of combined input of variety of factors e.g.
materials, labour, capital, machines and management.

v)  The activity level which smooths out highs and lows of production
is called ......... capacity.

State whether the following statements are True or False. [5]
I)  Productivity should not be confused with production.
i)  Scrap is not visible where as waste is visible.

i)  The volume of production achieved in a specified period is called
practical capacity.

Iv) Rent on owned building is not included in cost accounts.

v) ldle facility and idle time are the same.

P.T.O.



Q2) What is meant by ‘Value chain’ and how is it useful in assessing competitive
advantages?

Q3) Write short notes on any four of the followings :
a) Cost of finance
b) Waste
c) Productivity vs. Efficiency
d) Research and development cost
e) Need for reconciliation of cost and financial accounts.
f)  Spoilage

[20]

[20]

Q4) A manufacturing company disclosed a net loss of X 1,73,500 as per their cost
accounts for the year ended March 31, 2013. The financial accounts however
disclosed a net loss of X 2,55,000 for the same period. Followings are the

data.

3
Factory overheads under - absorbed 20,000
Administration overheads over - absorbed 30,000
Depreciation charged in financial a/c 1,62,500
Depreciation charged in cost a/c 1,37,500
Interest on investment not included in costa/c 48,000
Income tax provided 27,000
Interest on loan funds in financial a/c 1,22,500
Transfer fees (Credit in financial books) 12,000
Stores adjustment (Credit in financial a/c) 7,000
Dividend Received 16,000

Prepare a Reconciliation statement.

[20]

Q5) ‘Fairwell” Co. Ltd manufacture product ‘X’ at the rate of 160 pieces per
hour. The company has been producing and selling 3,20,000 units p.a. during
the period 2008 to 2012. However, during the year 2013 the Co. was able to
produce 2,92,000 units only. The Co’.s annual fixed overhead for 2013
amounted to X 11,68,000. The company works on single shift only at 8 hours
per day & 6 days a week. The company had declared 13 holidays during the
year 2013. The quarterly preventive maintenance & repairs work involved 77
hours. Calculate the maximum, practical, normal & actual capacities in 2013
in terms of hours.
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Q6) Prepare a Reconciliation statement from the information given below.  [10]

I
Profit as per financial a/c 18,550
Director’s fees not charged in cost a/c 650
A provision for bad - debts 570
Bank interest 30
Income tax 8,300

Overheads in the cost accounts were estimated at X 8,500, the
charges shown by the financial accounts were X 8,320. Depreciation of
. 800 was provided in the financial a/c.

*000

[4764] - 206 3



Total No. of Questions : 5] SEAT No.

P3457 [Total No. of Pages : 4
[4764] - 207
M.Com. (Semester - 1)

BUSINESS PRACTICES AND ENVIRONMENT
Modern Business Practices
(2008 Pattern) (Group - C) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Explain organisation, objectives & functions of Maratha Chamber of
Commerce.

OR

Explain objectives and functions of federation of Indian Chamber of Commerce
and Industries.

02) Explain the organisation, objectives & functions of Maharashtra Chamber of
Commerce.

OR

Describe organisation, functions and policies of public Enterprises in India.

03) State nature of Indian Agriculture and Agricultural Taxation Policy of
Government of India.

OR

What is 'Agricultural Business'? Explain characteristics of Agricultural Business
in India.

PTO.



04) What is 'Agricultural By - Product'? State nature & disposal of Agricultural
By - Product.

OR

State the Impact of WTO (World Trade Organisation) on Agri-Business
practices in Inda.

05) Write short notes (any four) :
a) Autonomy of public enterprises
b) Dairy Business in India
c) Indian Merchants Chamber
d) Farm Waste
e) Confederation of Indian Industries

f)  Public Utilities
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Total No. of Questions : 5]

P3457
[4764] - 207
M.Com. (Semester - 11)
BUSINESS PRACTICES AND ENVIRONMENT
Modern Business Practices
(2008 Pattern) (Group - C) (Special Paper - 1)
(FUS EUTR)
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Total No. of Questions : 5] SEAT No.

P3458 [Total No. of Pages : 4
[4764] - 208
M.Com. - | (Semester - I1)
BUSINESS ADMINISTRATION
Marketing Management
(2008 Pattern) (Group - D) (Special Paper - I1I)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Define marketing. Explain nature and objectives of marketing.
OR

What is consumer behaviour? Explain the relation between consumer behaviour
and buying motives.

02) Define CRM. Describe the limitation of CRM.
OR

Define marketing mix. Explain the elements of marketing mix.

03) What is branding? Describe various type of brands.
OR

Explain marketing planning. Discuss the steps in marketing planning.

04) Explain in detailed the reasons for failure of a new product.
OR

What is rural marketing. Explain the measures to be taken for improvement in
rural marketing.

PTO.



05) Write notes on any four.

a)
b)
c)
d)
e)
f)

Marketing research.

Marketing information system.

Tele Marketing.

Brand Equity.

New trends in marketing communication.

Consumer education.
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P3458
[4764] - 208
M.Com. - I (Semester - 11)
BUSINESS ADMINISTRATION
Marketing Management
(2008 Pattern) (Group - D) (Special Paper - I1I)
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Total No. of Questions : 5] SEAT No.

P3459 [Total No. of Pages : 4
[4764] - 209
M.Com. (Part- 1) (Semester - I1)
COMMERCIAL LAWS & PRACTICES
E - Security and Cyber Laws
(Group - E) (2008 Pattern) (Special Paper - 111)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Explain in detail the security requirements for E - Commerce. [20]
OR
What is Electronic Security? Explain the various electronic security tools.

Q2) What is HTML? Explain various features of HTML. [20]
OR
What is Cyber Law? Explain the scope and objectives of Cyber Law.

Q3) Write detailed note on : [20]
a) Time and place of dispatch of electronic record.
b) Receipt of electronic record.
OR

Explain the various miscellaneous provisions under section 80 to 94 according
to Information Technology Act, 2002.

Q4) What is XML? State the advantages and disadvantages of XML. [20]
OR

What is Cyber Crime? Discuss the various clauses in Information Technology
bill.

P.T.O.



Q5) Write short notes on : (Any four)

3)
b)
c)
d)
e)
f)

Internet Security.

Information useful to Intruders.
Web page.

E - Governance.

Information Technology Act, 2002

Acknowledgement of receipt.

000
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P3459
[4764] - 209
M.Com. (Part- 1) (Semester - 11)
COMMERCIAL LAWS & PRACTICES
E - Security and Cyber Laws
(Group - E) (2008 Pattern) (Special Paper - 111)
(TSt EUTR)
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P3460 [Total No. of Pages : 4
[4764] - 210
M.Com. (Semester - 1)
CO-OPERATION AND RURAL DEVELOPMENT
International Co - operative Movement
(2008 Pattern) (Special Paper - 111)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) Explain the changes made in the co - operative principles. [20]
OR
Briefly explain the development of co - operative movement in the world.

Q2) Explain the role of co - operation in capitalistic economy. [20]
OR
Is co - operative a system or a sector.

Q3) Explain the development of consumer cooperatives in Sweden. [20]
OR

Explain the role of Co - operatives in China.

Q4) Explain the impact of globalisation on co - operation. [20]
OR
Explain the philosophy of co - operation.

P.T.O.



Q5) Write short notes (Any Two) : [20]
a) Co - operative Education.
b) Co - operative movement in USA.
c) Co - operation in socialist system.
d) International Co - operative Alliance. (ICA)

000
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P3460

CO-OPERATION AND RURAL DEVELOPMENT
International Co - operative Movement
(2008 Pattern) (Special Paper - 111)

[4764] - 210
M.Com. (Semester - 11)
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[4764] - 211
M.Com. (Part - I) (Semester - I1)
ADVANCED BANKING AND FINANCE
Banking Law and Practices
(2008 Pattern) (Group - G) (Special Paper - I11)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) “Know Your Customer’ guidelines of the RBI are guidelines that take care of
money laundering.” Explain in detail.

OR

Explain in detail the ‘Obligations of Banking Companies, Financial Institutions
and Intermediaries’ under the Prevention of Money Laundering Act, 2002.

Q2) Who is a bank ‘Customer’ as per the customer service guidelines of the RBI?
Explain the features of the relationship between banker and his customer.

OR

“The RBI’s role to collect and furnish credit information has gone down on
account of establishment of Credit Information Bureau of India Limited
(CIBIL).” Do you agree? Explain.

03) What are different assets and liabilities of a bank? Why do you think could a
bank face asset liability mismatches?

OR

Detail out the definition of a Non-Performing Asset. Categorize assets of
banks using Non-performing assets as the base.

PTO.



04) Explain in detail various ways used by the bankers to transfer money, from
one place to another, fast.

OR

“The more educated is the society, more justified is hi-tech banking as well.”
Do you agree? Explain your answer.

05) Write notes on (Any Two) :

a) Definition of an ‘Intermediary’ as under Prevention of Money Laundering
Act, 2002.

b) Bankers’ Right of set off
c) Use and relevance of ‘Toll Free Numbers’ in Banking

d) Real Time Cross Settlement.
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M.Com. (Part - I) (Semester - 11)
ADVANCED BANKING AND FINANCE
Banking Law and Practices
(2008 Pattern) (Group - G) (Special Paper - I1I)
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[4764] - 212

M.Com. (Semester - II)
ADVANCED MARKETING (Special Paper - 11I)
Customer Relationship Management And Retailing (Group - H)

(2008 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Discuss in detail the evolution of relationship management in Indian context.[20]
OR

What is relationship management? Explain the importance of relationship
management in Indian context.

02) Define relationship marketing. Explain the concept of : [20]
a) Buyers and sellers relationship.
b) Relationship marketing in mass markets.
OR

Explain the importance of relationship marketing and bring out the difference
between relationship marketing and marketing strategy.

03) Discuss the role of information technology in building, maintaining and
enhancing profitability. [20]

OR

What is internet marketing? Explain the advantages and disadvantages of internet
marketing.

PTO.



04) Define Retailing explain the significance of retailing in the present Indian
scenario. [20]

OR

What are the types of store layout ? Explain the advantages and disadvantages
of each type of store layout.

05) Write short notes on (Any four) [20]
a) Bar coding
b) Importance of retail supply chain management
c) Managing reverse logistics
d) Dynamics of website
e) Stepsin selecting site

f)  Space mix

W R
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M.Com. (Semester - II)

ADVANCED MARKETING (Special Paper - III)
Customer Relationship Management And Retailing (Group - H)
(2008 Pattern)
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[4764]-213
M.Com. (Part - I) (Semester - I1)
ADVANCED ACCOUNTING AND TAXATION
Business Tax Assessment and Planning (Group - A)

(2008 Pattern) (Special Paper - 1V)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Write short Notes: (Any Four) [16]
a) Income Tax Authorities.
b) Procedure for Assessment.
c) Deduction of Tax at Source.
d) Exemption U/S -11 (charitable trust)
e) Assessment of Local Authority

f)  Merits and Demerits of VAT.

Q2) Answer any two of the following : [14]
a) Explain the procedure of filling of service Tax return.
b) Taxable services under service Tax Act.
c) Explain the concept of Tax planning and Managements.

d) Explain the basic concept of VAT.

Q3) Ajay and Vijay are two partners of a Firm sharing profits in the ratio 3:2.
The profits and Loss Account of the firm for the year ending 31 march.
2015 is as follows. [20]

P.T.O.



Profit and Loss Account as on 31t March 2015

Particular Rs. Particular Rs.
To cost of Goods sold 21,46,000 By sales 29,46,000
To Salary to staff 2,93,500 By Long term
To Depreciation 45,000 capital gain 30,000
To Remuneration to By miscellaneous
Partners 2,00,000 Business Income 24,000
Ajay - 1,30,000
Vijay - 70,000
To Interest on capital-24% 42,000
Ajay - 24,000
Vijay - 18,000
To other expenses 1,03,000
To Net profit 1,70,500
30,00,000 30,00,000

Other Information:
1)  The firm is being assessed as a firm.

i)  The firm has a given donation Rs. 50,000 to prime minister's national
Relief fund which is included in other expenses.

1) Salary and interest paid to partners as per partnership deed.

iv) Depreciation Allowable U/S 32 is Rs. 20,000

v) Income and Investment of Ajay and Vijay are as follows.

Particulars Ajay Vijay
Rs. Rs.
Interest on company Deposits 15,000 20,000
Dividend from Foreign company 30,000 35,000
Principle amount of House loan 60,000 65,000

Compute the Total Income and Tax liabilities of the firm for the assessment
year 2015-16.
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Q4) M/S. Alpha Beta Co. Ltd. has the following Assets and Liabilities as on
31.3.2015 computed the net wealth as on 31.3.2015 [10]
[Starting whether each item is taxable or not]

Rs.

1) Land in urban area [construction not allowed

as per municipal bye-laws] 36,00,000
i) Land in rural area 38,00,000
i) Land in urban area 50,60,000

[bought 12 years ago, but construction of

factory yet to start]
Iv) Residential quarters for workers 34,80,000
V) Residential quarters for officers -six units 48,00,000

[2 of them are occupied by officers drawing

Monthly salary of Rs. 46,700 each]
vi) Guest house and land appurtenant thereto 10,00,000
vii) Aircraft 2,80,00,000
viii) Motor cars for use of officers 20,50,000
iX) Loan from LIC for acquiring aircraft 90,00,000
X) Residential house provided to a whole- 27,00,000

time director [salary Rs. 7,20,000 p.a., the
director owns 25% equity]

Q5) Ajay cooperative society furnishes the following particulars of its income

for the previous year ending on 31 march 2015- [20]
Rs.
1) Interest on Government securities 10,000
i)  Profits from banking business 2,50,000
iii) Income from purchase and sale
of implement and seeds to its member 1,50,000
Iv) Income from Marketing of 2,00,000
agricultural produce of its member
v) Profit and gains of business 1,20,000
vi) Income from cottage industry 2,20,000
vii) Interest and dividends [gross] 30,000

from other co-operative societies
Compute Total income of the society and calculate the tax payable by it for
the Assessment year 2015-16.
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Q6) Atharva Ltd. Furnishes the following particulars. Compute the total taxable
income of the company for the assessment year 2015-16. (accounting year
ended on March 31,2015) [20]

Particular Rs.
1) Net income which includes penal interest

of Rs.31,000 paid for delayed payment

of sales tax and interest of Rs. 2 lakh

paid on fixed deposits from public subject

to the following adjustment 31,34,000

a) depreciation which included Rs. 50,000/- 1,65,000

for guest house building
b) Unabsorbed depreciation of the assessment

year 2007-08 7,35,000
c) Unabsorbed business loss brought forward 24,48,000
i)  Short-term capital gain on sale of shares 99,000

(trade investment)
lii) Long-term capital gain on sale of equity shareson  2,52,000
May 10,2014 (compute under section 48)

iv) Brought forward short-term capital loss 45,000
v) Brought forward long-term capital loss of the
assessment year 2010-11 on sale of shares 50,000
vi) Gross interest from Government securities 1,27,000
vii) Bank commission, etc., for realising interest 7,000
vV Vv Vv
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Total No. of Questions : 5] SEAT No. :
P3463

[Total No. of Pages : 3
[4764] - 214

M.Com. (Semester - II)
ADVANCED COSTACCOUNTING AND COSTSYSTEMS
Cost Control and Cost Systems
(2008 Pattern) (Special Paper - IV) (Group - B)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) a) Fillinthe blanks. [5]
i)  Value analysis is an effective tool for

i)  When fixed cost is Rs. 5 lakh, P/V Ratio is 40%, then the break
even point is Rs.

i) Key factor taken into consideration to judge the of
different products whenever there is any shortage.

iv) Under a good system of cost accounting the duties &
of cost accountant be clearly defined.

v) In activity based costing is an item for which cost
measurement is required.

b) State whether the following statements are true or false [5]
i)  Cost reduction seeks adherence to standards, where as cost control
is a challenge to the standard.

i) Inabreak even chart, angle of incidence is formed at the intersection
of sales line and variable cost line.

i) Differential Cost Analysis can be made only marginal costing and
marginal costing when production is equal to sales.

iv) Authority & responsibility should be clearly - defined as in case of
installation of costing system in the organisation.

v)  Cost centre refers to a section of business to which costs can be
charged.

PTO.



02) Explain the nature and scope of cost reduction. [20]

OR

Define the cost allocation and cost apportionment. Explain the various bases
of apportionment of overheads.

03) Write short notes (any four): [20]
a) Activity based costing.
b)  Value Engineering.
c) Features of differential costing.
d) Concept of variability cost.
e) Cost centre.
f)  Pricing policy.

04) Modern company has a maximum capacity of 4,40,000 units p.a. Normal capacity

is regarded as 3,60,000 units in a year. Variable manufacturing cost (including

material and labour) is Rs. 2.20 per unit. Fixed factory overhead is Rs. 1,08,000

p-a. Selling and distribution cost of the fixed nature is Rs. 50,400 p.a., where as

variable is Re. 0.60 per unit. Sales price is Rs. 4 per unit. Calculate

a)
b)
c)
d)

Break even point, P/V ratio and margin of safety.
Number of units to be sold to earn a profit of Rs. 12,000 in a year.
Sales value needed to earn a profit of 10% on sales.

Selling price per unit to bring down break-even point to 1,20,000 units

of the products.
[25]

05) An umbrella manufacturer makes an average profit of Rs. 2.5 per unit on a
selling price of Rs. 14.30 by producing and selling 60,000 units at 60% of

potential capacity. [25]
His cost of sales per unit is as follows:
Direct Materials : Rs. 3.50
Direct Wages : Rs.1.25
Factory Overheads : Rs. 6.25 (50%Fixed)
Sales Overhead : Re.0.80 (25%Variable)
[4764] - 214



During the current year, he intends to produce the same number but estimates
that his fixed cost would go up by 10% while the rates of direct wages and
direct materials will increase by 8% and 6% respectively. However, the selling
price cannot be changed.

Under this situation, he obtains an offer for a further 20% of his potential
capacity.

What minimum price would you recommend for acceptance of the offer to
ensure the manufacturer and overall profit of Rs. 1,67,300?

OR
S Ltd. manufactures and market a single product. The following information
is available.
Materials Rs. 8 per unit
Conversion costs (variable) 6 "
Dealer's margin Rs.2 "
Selling price Rs.20 "

Fixed cost Rs.2,50,000
Present sales 80,000 units
Capacity utilization: 60%

There is acute competition. Extra efforts are necessary to sell. Suggestions
have been made for increasing sales:

a) by reducing sales price by 5% &

b) by increasing dealer's margin by 25% over existing rates. Which of the
two suggestions would you recommend if the company desires to maintain
the present profit? Give reasons.

SISIS
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P3464

[Total No. of Pages : 4
[4764] - 215

M.Com. (Semester - II)
BUSINESS PRACTICES AND ENVIRONMENT
Business Environment Analysis
(2008 Pattern) (Group - C) (Special Paper -1V)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) "Private and public sector, both contributed for industrial growth of India" -
Discuss. [20]

OR

State importance of small and cottage industries. Explain the problems faced
by small and cottage industries. Suggest remedies for the same.

02) What is financial environment of Business? Explain the role of Foreign Banks
and Non Banking Institutions. [20]

OR
a) Explain the role of capital market in financial environment of Business.

b) Explain the role of Co-operative Banks in financial Environment of
Business.

03) What are different techniques of Environment Analysis. State limitations of
these techniques. [20]

OR
a) Define poverty? How it affects on growth of Business?
b) What is parallel Economy? Describe its effects on growth of business.

04) What is Global Environment? Explain the impact of cultural & demographic
Environment on world trade. [20]

OR
a) Explain the need of study of Global Environment.

b) "Inflation adversely affects on growth of Business" - comment.

PTO.



05) Write notes (Any Two) :

a) Importance of Foreign Investment.
b) Problems of unemployment.
c) Effects of lack of Technical knowledge & information.
d) Foreign Technology & MNCs.
[4764] - 215
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M.Com. (Semester - II)
BUSINESS PRACTICE AND ENVIRONMENT
Business Environment Analysis

(2008 Pattern) (Group - C) (Special Paper - 1V)
(w73t FUTaR)
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M.Com. (Part - I) (Semester - II)
BUSINESS ADMINISTRATION
Financial Policies and Practices (Group - D) (Special Paper - 1V)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Define the term depreciation. How depreciation works as a method of internal
financing?
OR
Explain the effects of over-capitalization and under-capitalization business.

02) What are acquisitions and mergers? How are they different?

OR
Define the term option contract. Explain different types of option.

03) What is venture capital? Discuss the various features of venture capital.
OR
Explain the various international party relationships.

04) a) Describe the features of Proforma income statement.
b) Distinguish between lease transaction and purchase transaction.

05) Write short notes: (Any Two)
a) Forms of dividend payment.
b) Business combination.
c) Necessity of securitization of assets,

d) Important features of world monetary system.

SISIS
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M.Com. (Part - I) (Semester - II)
BUSINESS ADMINISTRATION

Financial Policies and Practices (Group - D) (Special Paper -1V)

(2008 Pattern)
(w73t FUTaR)
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M.Com. (Semester - II)
COMMERCIAL LAWS AND PRACTICES
Laws Relating to Copyrights and Designs (Group - E) (Special Paper -1V)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) State the Composition of Layout Design Appellate Board. What are the
qualifications for appointment as a Chairman and Vice Chairman of the Board?
Describe the procedures and powers of the Appellate Board.

OR
Explain the need of Copyright Society? State the functions and rights of a
copyright society.

02) Define the term ‘New Plant Variety”. Describe the rights of farmer under the
protection of Plant Varieties and Farmers’ Rights Act, 2001.
OR
State the legal provisions for the registration of Geographical Indications.
When the registration is prohibited?

03) What is a ‘Design”? Which designs are registrable under the designs Act,
2000°? State the rights of the proprietor of registered design.
OR
State the provision of Layout Design Act, 2000 with reference to Piracy of
registered Design and its remedies.

04) Answer the following questions in brief. (Any two)

a)  What facts a plaintiff has to establish to prove piracy of a design under
the Designs Act, 2000?

b) State the Offences under the Copyright Act.

c) Explain the procedure of Revocation and Cancellation of Certificate under
Plant Varieties and Farmers’ right Act, 2001.

d) What are the provisions regarding civil and criminal remedies of
Copyright?

PTO.



05) Short Notes (Any four)
a) History of the law of Copyright.
b) Industrial Design.
c) Geographical Indications.

d) Authorities for Administration under Protection of Plant Varieties Farmers
Right Acts 2001,

e) Subject Matters of Copyright.

f)  Powers of Central Government as per the Geographical Indications of
Goods (Registration and Protection) Act, 1999.

SISIS
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M.Com. (Semester - II)
COMMERCIAL LAWS AND PRACTICES

Laws Relating to Copyrights and Designs (Group - E) (Special Paper-1V)

(2008 Pattern)
(w73t FUTaR)
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M.Com. (Semester - I1)
CO-OPERATION AND RURAL DEVELOPMENT
Management of Co-Operative Business

(2008 Pattern) (Special Paper - 1V) (Group - F)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Critically examine the social and financial responsibilities of Co-operative
business.
OR
Explain the problems of economic and commercial viability of Co-operative
institutions.
Q2) Evaluate business policies and practices of sugar Co-operative industries.
OR
Which business policies and practices are followed by the Maharashtra state
Co-operative Bank?
Q3) Evaluate the progress and problems of marketing Co-operative business.
OR
Write a brief account of success story of warana Co-operative institutions,
warananagar?

Q4) Describe the importance and problems of Dairy Co-operative institutions.
OR
Briefly explain the success story of Gokul Sahakari Dudh Sangh, Kolhapur.

Q5) Write short notes (Any Two)
a) Industrial relations in Co-operative business
b) Business policies of primary agricultural credit Co-operative societies.
c) Role of Co-operative department
d) Problems of non-agricultural credit Co-operatives

vV Vv ¥V
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M.Com. (Semester - I1)
CO-OPERATION AND RURAL DEVELOPMENT
Management of Co-Operative Business
(2008 Pattern) (Special Paper - 1V) (Group - F)
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ges - 3am| [egor 7707 : 100
gerr ;& 1)  @d gy AEvae .

2) @d FYAHT GEE T STEA.
3) w@gWIaIdt Yo Ui TyulAhT ugrat.

P3880

gy7 1) gt sagEmETen o @ AT Taraeii siesigds @ fuemrdiot udteror

w0,
fRan
TEHM TEATEAT AMfh O TaarRA iAo anen T8 .

99 2) EEEN HIER SR saaEE SRl S uegdie JeaTad &
feRan
TERTE TS UghNl Sehl SHa@r™ &R0t STIfUT eadt hivTean Sired.

o7 3) wEwll fauuvm sqaumETel W enfor T YeaHa .
fRan
TRUT TRl TEATEN (TROMTIR) 9T oNSSaTa foral.

9T 4) RN @Y HEA WEed @ ane favie
feRan
e Hgehil g9 €9, HicerqY ATt AINMT ATSFITT T .

-2-



gy7 5) ezwEm Rw fomn. (wiveard €F)
) FEHN FIEEWA I HaY
q) eI FH Ta-HEhRN HETe ST LRt

*) TEHN W e
g) ToR RN Ud Tgehil HEATE e

[4764]-218 -3-



Total No. of Questions : 5] SEAT No. :
P3467

[Total No. of Pages : 4
[4764] - 219

M.Com. (Semester - II)
ADVANCED BANKING AND FINANCE
Monetary Policy (Group - G) (Special Paper-1V)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Explain concept of ‘Money Supply’. How is Money Supply measured by
Reserve Bank of India?

OR

Explain in detail the recommendations of the Working Group on Money Supply
(1998).

02) Discuss the mechanism and effectiveness of quantitative instruments of

monetary policy.

OR
What is Monetary Policy? Explain the conflict among objectives of Monetary
Policy.

03) Critically review Monetary Policy of Reserve Bank of India during last five
years.

OR
Explain the role of Reserve Bank of India in Rural Credit.

04) Explain the following:
a) Pre -shipment credit and post-shipment credit
b) High powered money
OR

Explain the role of Reserve Bank of India in establishment of institutional
framework for Industrial Finance.

PTO.



05) Write notes: (any two)

a) Exchange Rate Stability
b) Balanced Growth
c¢) Moral Suasion and Direct Action
d) Inflation Targeting
[4764] - 219
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M.Com. (Semester - II)
ADVANCED BANKING AND FINANCE
Monetary Policy (Group - G) (Special Paper -1V)

(2008 Pattern)
(w73t FUTaR)

e ;3 A [wegot 701 : 100
AT

1) W& Uy AUl savaes ITg.

2) €& UYAET 9 U7 ST,

3) EEHTHETS! Hes IS AYAUTIehT TgTal.
gy7 1) UvTTeaT GRAGATE HeheUHT TUEE . 9T GRasT Rereg deh HIMIHR Hierd ?

37 4)

e
e YRasaTeiel shrEiersat (1998) frwmstt afomr wawe w0,

e fauTen eNRu=aT GEaTeHe: AU h d UNUITHRTEhdT Ui i,
ferenn
TAATIII R ENUT TEUTS <h1dl ? Sei-Taaeh ST Sfetemsfie dod v .

WA Tigreg Thsan TedT T auidie] Tedauder U= feehTeaes meran
T,

femar
AR NeTeg sohel JTHIUT hyRasATdrel JHeRT Tae .

WTeAted T .
ar) T - fruwe snfor e, vz swige
¥) I AT TET
e
T .



gy75) Fur forgr. (srored SF)
1) fafma @ arom
) wHATA Fedt
%) Afoeh TReTEUi T Teae wRaTs
Z)  TAGAYH OIS

SISIS

[4764] - 219



Total No. of Questions : 5] SEAT No. :
P3468

[Total No. of Pages : 4
[4764] - 220

M.Com. (Semester - II)
ADVANCED MARKETING
Services Marketing (Group - H) (Special Paper - 1V)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  Each question carries 20 marks.

Q1) Explain the factors responsible for the growth in Services Sector in the post
globalisation scenario.

OR

Explain the term ‘Marketing Mix of Services. ‘You may base your answer on
the basis of any service supporting manufacturing of tangible goods.

02) What is meant by the term ‘On Line Marketing’? Discuss the role of Internet
in the growth of online marketing.

OR

‘People are indispensable in Service Marketing Chain.” Discuss the qualities
specially required to be developed by staff engaged in service sector.

03) What is meant by the term ‘Competitive Price’? Explain various strategies
employed for pricing of services.

OR

What is meant by the term ‘Customer Satisfaction’? Explain various measures
adopted to enhance customer satisfaction.

04) Explain with suitable examples the difference between buying behaviour of
On Line Customer vis-a-vis the buying behaviour of customer at the counter.

OR

Explain the applications of Service Marketing in the area of Higher Education
in the post liberalisation scenario. You may choose to discuss these applications
by quoting any educational institution in the Higher Education sector.

PTO.



05) Write short notes (Any Four)

a) Classification of Services

b) Sales Promotion in Service Sector

c) Distribution Strategies for Services

d) Technology Enabled Services

e) Customer Encounter Management

f)  Telecommunication Services

SISIS)
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M.Com. (Semester - II)
ADVANCED MARKETING
Services Marketing (Group - H) (Special Paper - 1V)

(2008 Pattern)
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M.Com. (Semester - III)
BUSINESS FINANCE
(2008 Pattern) (Compulsory)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates :
1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is ‘Business Finance’? Explain the scope and importance of Business
Finance.

OR
Explain the need and importance of Future Value and Present Value.

02) Explain the term Strategic Financial Planning. Explain the objectives and steps
of Strategic Financial Planning.

OR

Explain the term ‘Under-Capitalization’ and ‘Over-capitalization’. Differentiate
between Under-Capitalisation and Over-capitalization.

03) What is Equity Share? Explain its characteristics and advantages.
OR
What is ‘debenture’? State the advantages and disadvantages of debenture.

04) Explain the term ‘Short-Term Financing’. Explain various sources of Short

Term Financing.

OR
What is ‘Project Financing’? Explain the need and importance of Project
Financing.

PT.O



05) Write short notes (Any Four):

a)
b)
c)
d)
e)
f)

Objectives of Business Finance.
Limitations of Financial Planning.
Characteristics of Preference share.
Background of Dividend Policy.
Technical Analysis.

Disadvantages of Short Term Financing.
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Total No. of Questions : 5]

P3469
[4764] - 301

M.Com. (Semester - III)
BUSINESS FINANCE
(2008 Pattern) (Compulsory)
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Total No. of Questions : 5] SEAT No. -

P3470 [Total No. of Pages : 4
[4764] - 302
M.Com. (Semester - II)
INDUSTRIAL ECONOMICS
(Old Course) (Compulsory Paper)
Time : 3 Hours] [Max. Marks : 100
Instructions:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) State and explain need and significance of the study of Industrial Economics.

[20]
OR
Discuss Inter-relationship between Industrial Development and Economic
Development.
02) Critically examine Weber’s Theory of location of Industries. [20]

OR

Explain factors affecting Industrial productivity.

03) Critically examine role and problems of Special Economic Zone. [20]
OR

State and explain impact of Industrialisation on Urbanisation.

04) State and explain role and problems of Public Sector. [20]
OR

What are the causes of Industrial Imbalance in India?

PTO



05) Write short notes (Any Two):

a)
b)
c)
d)

Sargent Florence Theory of location of Industries.

Impact of Industrialization on Global Warming.

Need of balanced Regional Development of Industries.

Problems of Small Scale Industries.
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Total No. of Questions : 5]

P3470
[4764] - 302

M.Com. (Semester - II)
INDUSTRIAL ECONOMICS
(Old Course) (Compulsory Paper)
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Total No. of Questions : 5] SEAT No. :

P3471 [Total No. of Pages : 4
[4764] - 303

M.Com. (Semester - III)
BUSINESS STATISTICS

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Use of scientific calculator and statistical tables is allowed.

Q1) Attempt any four of the following;: [20]
a) Define the following terms:
i)  Discrete Random Variable.
i)  Critical Region.
iii) Producer’s Risk.
iv) Time series.
v)  Standard Normal Variate.

1
b) Probability of getting a tobacco additict in a locality is 5 If a group of

10 persons is randomly selected from that locality, what is the probability
that

i)  None of them is tobacco addict.
i) At least one of them is tobacco addict.

c) Onan average 4 patients per hour are admitted in a hospital. What is the
probability that half an hour will pass

i)  Without admission of any patient?
i)  With admission of only 2 patients?
(Given that : e2=10.135335).
d) State five properties of normal distribution based on area.

e) Explainthe working of a single sampling plan.

PTO



An estate agent has 5 types of houses available for sale. Profit due to
each type of house is Rs. 50,000, Rs. 30,000, Rs. 20,000, Rs. 15,000
and Rs. 10,000 respectively. The percentage of demands for the 5 types
of houses are 10%, 5%, 20%, 50% and 15% respectively. What is his
expected profit/house?

02) Attempt any four of the following;: [20]

a)

b)

d)

The mean weight of 1000 students in the university is 55 kg and SD 4.5
kg. Assuming normal distribution find the number of students having
weight between 50 kg and 58 kg.

A sample of 100 steel rods produced by a certain company was found
to have a mean length 10.27 meters with a SD of 2.3 meters. Can it be
regarded as a sample from a population having mean length of 10 meters?
(Use 5% [.0.5)

The following table shows the opinions of males and females about the
legality of abortion:

Opinion Favourable = Opposed Undecided
Gender
Male 5 28 18
Female 8 30 11

Test whether the opinion about the legality of abortion is sex dependent.
(Use 1% l.0.s.).

Define the following terms:
1)  Defect.

i) Defective.

iy AQL.
iv) LTPD.
v) ASN.

Explain the graphical method of measuring trend in a time series.

[4764] - 303 2



A yoga therapist claims that “Kapalbhati” is 90% effective in reducing
the abdomen circumference. A group of 50 persons selected randomly
was asked to do Kapalbhati for 10 minutes daily for one month. A
significant reduction in abdomen circumference was observed in 40
persons. Determine whether the yoga therapist’s claim is legitimate.
(Use 5% l.0.s.)

03) Attempt any four of the following;: [20]

a)

The producer of the packages is interested in testing whether the average
weight of the contents in packages is 1 kg. A random sample of 12
packages was found to have average weight of 0.98 kg with a SD 0f 0.35
kg. What should the producer conclude? (Use 5% /.0.s.).

Distinguish between chance causes and assignable causes of variation.

In a single sampling plan N = 5000, n =100 and ¢ = 3. Compute AOQ if
the lots submitted are 0.1 percent defective.

Write a note on different types of limits related to a control chart.

On an average 2 pins in a box of 1000 pins produced by a machine are
defective. Packets of 2000 pins are prepared. What is the probability
that exactly 5 pins in a randomly selected packet will be defective?

(Given e*=10.01832).
Define the following terms:
i)  Null hypothesis.

i)  Alternative hypothesis.
iii) Level of significance.
iv) Test of hypothesis.

v)  Acceptance region.

04) Attempt any two of the following: [20]

a)

A machine is designed to produce a metal part of given length. The
results of 10 samples of size 5 are given below:

Mean (X)| 16 17 18 15 18 14 17 15 17 15

RangeR)[ 7 4 4 8 12 11 5 7 9 7

Draw X and R charts. Comment on the state of control

(Given : A, =0.58,D, =0, D, =2.12, forn = 5).

[4764] - 303 3



b) Below are given the figures of production (in 000 quintals) of wheat

from a village.

Year : 1987 1988 1989 1990 1991 1992 1993
Production : 80 90 92 83 94 99 92
i)  Fit a straight line trend to these data.

i)  Plot data on the graph and show the trend line.

c) Following are average hours of sleep for 8 patients before and after
taking a sleeping pill. Test at 5% /.0.s. Whether the pill has any effect on
the sleep.

Patient Number : 1| 2| 3 | 4 [ 5] 6 7
Before 43514515 |2 55(25
After 5] 6| 6 |65 4] 65| 4 |45
05) Attempt any two of the following: [20]
a) Describe components of a time series.

b)  Write a note on P-chart.

c)

Following are the number of painting defects on 10 window frames of a
building:
Window frame Number | 1 2 3 4 5 6 7 8 9 10

No. of painting defects | 2 4 0 4 5 3 2 2 3 5

Set up control chart for the number of defects and comment on the state
of control by plotting control chart.
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Total No. of Questions : 5] SEAT No. -

P3472 [Total No. of Pages : 4
[4764] - 304
M.Com. (Semester - III)
RESEARCH METHODOLOGY FOR BUSINESS

(2008 Pattern) (Compulsory)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates :
1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is ‘Business Research’? Discuss its aims, objectives and importance.

OR

What is ‘Business Information’? Describe with suitable example different
sources of Business Information.

02) Explain in detail the sources of Government and Non-government Information.

OR

What is Questionnaire & Sampling? Explain their merits & demerits.

03) What do you mean by cases in Business Research? Explain the features &
types of cases in Business Research.

OR

Explain in detail the structure of a Research Report.
04) Explain in detail the research problems in Marketing & Manufacturing areas.

OR

Explain in detail the statistical techniques used in Business Research.

PT.O



Q5) Write short notes on (Any Four):

a)
b)
c)
d)
e)
f)

Research Design.

Types of data bases.

Action Research.

Organising Evidence Information data.
Style.

Evaluation of secondary sources.
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Total No. of Questions : 5]

P3472
[4764] - 304

M.Com. (Semester - III)
RESEARCH METHODOLOGY FOR BUSINESS
(2008 Pattern) (Compulsory)
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Total No. of Questions : 5] SEAT No. :

P3473 [Total No. of Pages : 2

[4764] - 305
M.Com. (Part - II) (Semester - II1)
ADVANCED AUDITING
Advanced Accounting and Taxation
(Special Paper - V) (Group - A)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Define “Audit”. Explain the various types of “Audit”. [20]
OR

Define the term “Verification”. Describe the object of verification.

02) State the qualifications and disqualifications of a person to be appointed as
company auditor. [20]

OR

Discuss in detail the liabilities of a company auditor.

03) What consideration you would keep in mind for the audit of incomplete record.
[20]
OR

What documents would you like to refere before commencement of your
annual audit.

04) What is the object of vouching the cash Book. How will you vouch the receipts
side of cash Book. [20]

OR

How an auditor evaluates the efficiency of internal control system.

PTO



05) Write notes (Any Two) :

a)
b)
c)
d)

Audit programme.
Audit Committee.
Audit Report.

Corporate Governance.

OO NO NS
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Total No. of Questions : 5] SEAT No. :

P3474 [Total No. of Pages : 2
[4764] - 306
M.Com. (Part - II) (Semester - II1)
ADVANCED COST ACCOUNTING & COST SYSTEM
Cost Audit (Special Paper - V)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Attempt all questions.

2) Each question carries 20 marks.

Q1) Discuss the scope and characteristics of Cost Audit.
OR

What do you mean by the term ‘Efficiency Audit’? In a way Cost Audit is
Efficiency Audit. Discuss the statement and state the ‘Efficiency Indicators’to
be reported by Statutory Cost Auditor in the Cost Audit Report.

Q2) Discuss the procedure for Appointment of Cost Auditor in any steel
manufacturing company having an annual turnover of Rs. 500 crores.

OR

What is meant by Cost Record? State the provisions of Cost Accounting
Record Rules, 2011 regarding maintenance of cost record as regards Imported
Raw Material.

03) Discuss the usefulness of Cost Audit Programme. You have been appointed
as a statutory Cost Auditor of a pharmaceutical company. Make audit
programme and chalk out the activities to be completed in a statutory span.
Your programme must include all the activities commencing from day one of
the audit till the report is finally submitted to MCA.

OR

‘The authentic of data obtained during Cost Audit to a major extent depends
upon the efficacy of Internal Control System in the organisation’. Do you
agree? Design Internal Control Questionnaire as regards Research &
Development Expenditure. You may assume suitable data for the purpose of
designing questionnaire.

PT.O.



04) What is meant by Cost Audit Note? You are working as a junior in the Cost
Audit firm. Your boss has assigned you the work of Cost Audit of inventory
function in a manufacturing organisation. Make 5 cost audit notes indicating
your observations in each of the note. Make logical assumptions in support of
your answer.

OR

Write short notes (Any four) :
a) Social Audit.
b) ERP based Audit Programme.
c) Rights of Cost Auditor.
d) Audit Working Papers.
e) The concept of product group as per CARR 2011
f)  Cost Accounting treatment of SCRAP.

05) Following are the sales and cost data of a manufacturing firm for two
consecutive years : (Rs. In Lakhs)

Particulars Year One Year Two

Manufacturing cost of goods sold 29.00 32.00
Selling Expenses 1.80 2.40
Administration Expenses 240 3.00
Financial Charges 0.80 0.60
Excise Duty 4.00 4.00
Sales (Including Excise) 40.00 44.00
Calculate :
a) Prepare a profit variation statement.

b)

Account for the cause-wise changes in profit.

OO0
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Total No. of Questions : 5] SEAT No. -

P3475 [Total No. of Pages : 4

[4764]-307
M.Com. (Semester - 111)

BUSINESS PRACTICES AND ENVIRONMENT
(Special Paper - V)
Entrepreneurial Behaviour
(2008 Pattern) (Group - C)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2)  All questions carry equal marks.

Q1) Write a detailed note on ‘Studies of personal and social traits in

entrepreneurship’. [20]
OR

a) Explain briefly entrepreneurship training components. [10]

b) Write a note on ‘entrepreneurship training methodologies’. [10]

02) Write a note on ‘achievement motivation as related to entrepreneurship
problems’. [20]

OR

Highlight the development inputs for trainer-motivator.

03) What is the importance and relevance of business opportunity. [20]
OR

a)  Write a note on ‘Selection of business opportunity’ [10]

b) Enumerate new trends in the service sector. [10]

04) Describe the process of identifying and assessing business opportunity.[20]
OR

What is the scope for entrepreneurship in the service sector?

PTO.



05) Write short notes (Any two) :

a)
b)
c)
d)

Assessing potential entrepreneurship.

Training models.

Sources of development of achievement motivation.

Post training support.

OO NN
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Total No. of Questions : 5]

P3475

[4764]-307

M.Com. (Semester - 111)
BUSINESS PRACTICES AND ENVIRONMENT
(Special Paper - V)
Entrepreneurial Behaviour
(2008 Pattern) (Group - C)
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Total No. of Questions : 5] SEAT No. -

P3476 [Total No. of Pages : 4
[4764]-308
M.Com. (Part - Il) (Semester - I11)
BUSINESS ADMINISTRATION
Human Resource Management
(2008 Pattern) (Group - D) (Special Paper - V)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) Explain various approaches to Human Resource Management.
OR
Write short notes on :
a) Contract Labour.

b) Social problems of female employees.

Q2) State the process of selection of a candidate in the organization. Explain
importance of selecting a right candidate.

OR

Define the term ‘Recruitment’. Explain in detail external sources of recruitment.

03) Explain importance of ‘Training’. Explain in detail various aids used in training.
OR

Explain the various methods of training.

04) What is performance appraisal? Explain ethics in performance appraisal.
OR
Write short notes on :
a) Job Description.

b) Transfer of employees.

PTO.



05) Write short notes (Any Four) :

a)
b)
c)
d)
e)
f)

Resignation.

Dismissal of employee.
HR Audit.

HR Outsourcing.
Employees promotions.

Kinds of retirement.

OO NN
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Total No. of Questions : 5]

P3476
[4764]-308
M.Com. (Part - Il) (Semester - 111)
BUSINESS ADMINISTRATION
Human Resource Management
(2008 Pattern) (Group - D) (Special Paper - V)
(Fd EUTR)

gz 3 ard] [ zggor 7707 : 100
gaAr .~ 1) & F97 @iSlE SnEavasd .

2) @d AT THIA T HTE.
3) Hewlars? e U TeTaEET g,

gy7l)  UHE TR ST fafae foem var we w.
femen
HA) HAE HHR.
q) e HEHETA QIS THET.

gg72) e el ufsEen |anm, urs wen Fade agea T w59
e

gy73)  uiVienme ugcd TR . U0 SUHTIG SATeed HISATS AfeRR TSRt .
feman
ufvteromean fafarer ugdt wae .

T974) AT eI TEUTS S ? SIS IO Hed T w
fepen
HA) HE AR
9) HUAETN g9t



gy75)  fem femr.
) A
¥) a=ahi (skHed)
W) A GEEA TRt
¥) g U SEEATEER Uik s
g) RHETd gS=
%) e TeR

NG NO NS,

[4764]-308 4



Total No. of Questions : 5] SEAT No. -

P3477 [Total No. of Pages : 4
[4764]-309
M.Com (Part - 1) (Semester - 111)
COMMERCIAL LAWS AND PRACTICES (Special Paper - V)
Laws Relating to International Business
(2008 Pattern) (Group - E)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2)  All questions carry equal marks.

Q1) State the modern systems of International Law.
OR

Explain in detail modern sources of International Laws.

02) Explain the rights of individuals in International Laws.
OR
Write detailed note on :
a) Recardo’s Theory.
b) Classical Approach.

03) Explain in detail the Regulation of foreign direct Investment in International

Trade.

OR
Explain the various Diplomatic modes of conflict Resolution in International
Law.

04) Explain in detail free Trade V/S. Protection.
OR

What are the types of customs relating to International Law?

PTO.



05) Write short notes on (Any Four) :

a)
b)
c)
d)
e)
f)

Duties of Individuals in International Law.
Arbitration.

Jurisdiction of International Court.
Country similarity theory.

Development of International Law.

National Regulation of International Business.

OO NN
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Total No. of Questions : 5]

P3477

[4764]-309
M.Com (Part - 1) (Semester - 111)

COMMERCIAL LAWS AND PRACTICES (Special Paper - V)

Laws Relating to International Business
(2008 Pattern) (Group - E)
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Total No. of Questions : 5] SEAT No. -

P3478 [Total No. of Pages : 4
[4764]-310
M.Com. (Part - Il) (Semester - I11)
CO-OPERATION AND RURAL DEVELOPMENT
(Special Paper - V)
303 : Co-operative Credit System
(2008 Pattern) (Group - F)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Explain the importance of agricultural credit.
OR
Explain the different types of agricultural credit in India.

Q2) State the limitations of credit system.
OR

Explain the functions and problems of primary agricultural credit societies.

03) Describe the organisation and functions of District central Co-operative Banks.
OR

Explain the performance and problems of Urban Co-operative societies.
04) Explain the role of Non Agricultural credit societies in urban development.

OR

Explain the functions and problems of Regional Rural Banks.

PTO.



05) Write short notes (Any Two) :

a)
b)
c)
d)

Features of Agricultural credit.
State Co-operative Banks.
Salary Earners Co-operative credit societies.

Sources of finance of Regional Rural Banks.

OO NO NS
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Total No. of Questions : 5]

P3478

[4764]-310
M.Com. (Part - Il) (Semester - 111)

CO-OPERATION AND RURAL DEVELOPMENT

(Special Paper - V)
303 : Co-operative Credit System
(2008 Pattern) (Group - F)
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Total No. of Questions : 5] SEAT No. -

P3479 [Total No. of Pages : 4
[4764]-311
M.Com. (Semester - 111)
ADVANCED BANKING AND FINANCE
Foreign Exchange
(2008 Pattern) (Group - G) (Special Paper - V)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is the meaning of a Non Resident Indian? What are the features of Non
Resident External account (NRE)? How is it different from the Non Resident
Ordinary account?

OR

Elaborate on the following factors affecting rate of exchange - Interest rate,
Trade deficit, Capital Inflows.

02) What is the importance of a Letter of credit and what are the different types of
letters of credit? Explain in detail the operation of a letter of credit.

OR

Explain how an importer deals with the exchange risk? What are the different
types of risks involved in foreign trade?

03) Trace the changes in the exchange rate system in India.
OR

What is the meaning of foreign exchange market? Who are the participants of
the foreign exchange market.

PTO.



04) How do exporters and foreign exchange dealers minimize the foreign exchange
risk.

OR

What are the features of the spot market? How is it different from the forward
market? Elaborate on the working of the forward market.

05) Write notes on (any two) :
a) RESIDENT ACCOUNT.
b) FCNR.
c) Forward market.
d) Pre shipment credit.

e) Current account deficit.

OO0
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Total No. of Questions : 5] SEAT No. -

P3480 [Total No. of Pages : 4
[4764]-312
M.Com. (Part - Il) (Semester - I11)
ADVANCED MARKETING (Special Paper - V)
International Marketing
(2008 Pattern) (Group - H)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is meant by ‘International Marketing’? Explain scope and objectives of
International marketing.

OR
Explain in detail the Recent Import-Export procedure.

02) What are the various kinds of facilities and Incentives available to export
business? Discuss briefly.

OR

Explain in detail ‘Export documentation’.

03) a) Write a note on ‘GATT".
b) State functions of world trade organisation
OR
Write notes :
a) Registration of Exporters.
b) Rules for successful Exporting.

PTO.



04) What do you mean by export pricing policy and strategy? What are the factors
affecting pricing decision?

OR
Describe challenges and opportunities in International marketing.

05) Write short notes (Any four)
a) Labelling and packaging of Goods.
b) Foreign Exchange facilities provided by EXIM Bank.
c) Export License.
d) Marine Insurance.
e) International Market Segment.

f)  Export credit Limit.

OO0

[4764]-312 2



Total No. of Questions : 5]

P3480
[4764]-312

M.Com. (Part - Il) (Semester - I11)
ADVANCED MARKETING (Special Paper - V)
International Marketing
(2008 Pattern) (Group - H)
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Total No. of Questions : 5] SEAT No. :
P3481

[Total No. of Pages : 2
[4764] - 313

M.Com. (Semester - I1I)
ADVANCED ACCOUNTING AND TAXATION
Specialised Auditing (Special Paper - VI) (Group -A)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Discuss provisions of Section 44AB of the Income Tax Act, 1961 with
reference to the persons covered and the form of Audit Report.

OR
What is Internal Audit? Explain the nature, scope and purpose of Internal
Audit.

Q2) Write short notes: (Any Two)
a) Any Ten Clauses of Form 3CD.
b) Features of Internal Control.
c) Audit of Club.
d) Contents of Form 3CB.

03) State special points to be considered in auditing the Accounts of a Bank.
OR
Describe the special features of Audit of Charitable Trusts.

04) Explain the salient features of Audit of Co-operative Societies under the
Maharashtra State Co-operative Societies Act, 1960.

OR

What are the objects of Government Audit? Explain the Role and Functions
of Comptroller and Auditor General of India.

PTO.



05) Write short notes: (Any Two)

a)  Audit of Multi State Co-operative Societies.
b) Audit Programme.
c) Audit of Public Sector Undertaking.
d) Public Accounts Committee.
[4764] - 313



Total No. of Questions : 5] SEAT No. :
P3482

[Total No. of Pages : 2
[4764] - 314
M.Com. (Semester - I1I)
ADVANCED COST ACCOUNTING AND COST SYSTEM
Management Audit
(2008 Pattern) (Group - B) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions carry equal marks.

2)  Use of calculator is allowed.

Q1) Management Auditis a "Critical review of Management performance". Examine
this statement bringing out the difference in approach between Management
audit and Financial audit.

OR

Define the term 'Management Audit'. State its salient features and steps involved
in conducting Management Audit.

02) What do you understand by 'Corporate Image'. State the factors that help to
Enhance Corporate Image.

OR
Distinguish between Management Audit and Cost Audit in detail.

03) Asamanagement auditor, how would you evaluate the following.
a) Corporate culture
b) Personnel development
OR
Explain the concept of Operational Audit. What are its objectives.

04) Write short notes (Any Four):
a) Corporate Development Audit.
b) Corporate Service Audit.
c) Preliminaries of Management Audit.
d) Efficiency Audit.
e) Social Cost Benefit Analysis.

PTO.



05) A project schedule has the following characteristics.
Activity Time (weeks)
1-2 _— 4
1-3 —
2-4 E—
3.4 —>
3.5 >
4-9 —
5-6 —_
5-7 _—
6-8 _—
7-8 -
g-10 ——m—>
9-10 — > 7

a) Construct the network diagram.

DN DN = 0 K~ WD O = =

b) Find the critical path by calculating total float.

SISIS
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Total No. of Questions : 5] SEAT No. :
P3483

[Total No. of Pages : 4
[4764] - 315

M.Com. (Semester - I1I)
BUSINESS PRACTICES AND ENVIRONMENT
Entrepreneurship Development Pattern

(2008 Pattern) (Group - C) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Whatis 'Entrepreneurship'? Explain the role of Government in Entrepreneurship
Development.

OR
Explain the problems in Entrepreneurship Development in India.

02) Explain the role of specialised Institutions in Entrepreneurship Development
programme.

OR
Explain the changes in concept of Entrepreneurship.

03) What is 'Project Design'? Explain the importance of project design in
developing new business.

OR

What is 'Project Management'? Explain the important issues in project
management.

04) Whatis 'PERT'? Explain the importance of project evaluation review technique
in developing new business.

OR

Write a detailed note on entrepreneurship development efforts in India.

PTO.



05) Write short notes (Any Four) :

a)
b)
c)
d)
e)
f)

Critical path method.

Project evaluation.

Venture capital.

Project Direction.

Entrepreneurship within organisation.

Project cost control.

SISIS
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Total No. of Questions : 5]

P3483 [4764] - 315
M.Com. (Semester - I1I)
BUSINESS PRACTICES AND ENVIRONMENT
Entrepreneurship Development Pattern

(2008 Pattern) (Group - C) (Special Paper - VI)
(ATt TUTAR)
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Total No. of Questions : 5] SEAT No. :
P3484

[Total No. of Pages : 4
[4764] - 316

M.Com. (Semester - I1I)
BUSINESS ADMINISTRATION
Oraganisational Behaviour

(2008 Pattern) (Group - D) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) What is 'Models of organisational Behaviour'? State various models of
organisational behaviour.

OR

State the meaning of 'Organisational Behaviour'. Explain the goals of
organisational Behaviour.

02) What is 'organisational culture'? State the characteristics of organisational
culture.

OR
What is 'Attitude change'? State the dimensions of Attitude change.

03) Explain the various theories of motivation.
OR

What is 'Emotional Intelligence? State the importance of emotional intelligence
at workplace.

04) What is Stress? State the causes and effects of stress.

OR
Explain the types of group, state the significance of team building.

PTO.



Q5) Write short notes (Any Four)

a)
b)
c)
d)
e)
f)

Creating organisational culture.
Job satisfaction.

Personality.

Primary motives

Impression management

Role of Information Technology in Organisation

SISIS
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Total No. of Questions : 5]

P3484 [4764] - 316
M.Com. (Semester - I1I)
BUSINESS ADMINISTRATION
Oraganisational Behaviour

(2008 Pattern) (Group - D) (Special Paper - VI)
(ATt TUTAR)
9% ; 3 | [wegor 701 : 100
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Total No. of Questions : 5] SEAT No. :
P3485

[Total No. of Pages : 4
[4764] - 317

M.Com. (Part - IT) (Semester - I11)
COMMERCIAL LAWS AND PRACTICES
World Trade Organization - Norms and Practices

(2008 Pattern) (Group - E) (Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Explain positive and negative effects of W.T.O. agreements on Agriculture
Trade in India.

OR

Discuss the objectives, structure and working of W.T.O.

02) Explain the following:
a) Main provisions of Anti-Dumping measures.
b) An Evaluation of Uruguay Round Agreement.
OR

Explain Uruguay Round Agreement and Indian Patent Law.

03) Review of Anti- Dumping Agreements under W.T.O.
OR

Explain in details Dispute settlement Procedure under W.T.O.

04) Explain various W.T.O. Agreements.
OR
a) Explain Asian Currency crisis.
b) Explain the Globalization and W.T.O.

PTO.



05) Write a Short Notes on: (Any four)

a)
b)
c)
d)
e)
f)

Benefits of WTO Trading System.
W.T.O. Accession.

History of Multilateral Trading System.
Difference between GATT and W.T.O.
Liberalization of Trade in Manufactures.

Trade in Counterfeit goods.

SISIS
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Total No. of Questions : 5]

P348S5

[4764] - 317
M.Com. (Part - IT) (Semester - III)
COMMERCIAL LAWS AND PRACTICES
World Trade Organization - Norms and Practices

(2008 Pattern) (Group - E) (Paper - VI)
(ATt TUTAR)

9% ; 3 | [wegor 701 : 100
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Total No. of Questions : 5] SEAT No. :
P3486

[Total No. of Pages : 2
[4764] - 318
M.Com. (Semester - I1I)
CO-OPERATION AND RURAL DEVELOPMENT
Co-Operative Banking System
(2008 Pattern) (Special Paper - VI)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define priority sector. What are the various types of advances given to the
priority sector? [20]
OR
Explain the procedure of obtaining various advances for the priority sector.

02) Explain the short and long term measures for recovering overdues. [20]
OR
What are the objectives of National federation of state co-operative banks?

03) Explain various functions of the Maharashtra State Co-operative Bank. [20]

OR
What is the role of NABARD in the Co-operative Credit System?

04) Explain the supervisory role of RBI in Co-operative Banking System. [20]
OR
What are the problems faced by the Maharashtra State Co-operative Bank?

05) Write short notes (Any Two): [20]
a)  Eligibility for priority sector advances.
b) Advances under IRDP.
c) Organization of NABARD.
d) Functions of RBI.

SISIS

PTO.



Total No. of Questions : 5]

P3486

[4764] - 318
M.Com. (Semester - I1I)
CO-OPERATIONAND RURAL DEVELOPMENT
Co-Operative Banking System

(2008 Pattern) (Special Paper - VI)
(ATt TUTAR)

9% ; 3 | [wegor 701 : 100
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Total No. of Questions : 5] SEAT No. :
P3487

[Total No. of Pages : 4
[4764] - 319

M.Com. (Semester - I1I)
ADVANCED BANKING AND FINANCE
International Finance

(2008 Pattern) (Group - G) (Special Paper - VI)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.
2) All questions carry equal marks.

Q1) a) What are the reasons for international banking?
b) Explain the types of international banking offices.
OR
a)  Whatis international money market?

b) What are the instruments of international money market?

02) a) Explain any two instruments of international equity markets.
b) Explain any two types of bonds in international debt market.
OR
a) Discuss the features of Gold Standard.
b) Explain the weaknesses of Gold Standard.

03) a) Whatis currency convertibility?
b) Explain current account convertibility and capital account convertibility.
OR
Explain the following concepts in detail:
a) Floating exchange rate system.

b) Pegged currency.

PTO.



04) Discuss the origin and operations of International Bank for Reconstruction
and Development (IBRD).

OR
a)  What are the objectives of International Monetary fund (IMF)?

b) Explain the functions of International Finance Corporation (IFC).

05) Write notes on (Any Two):
a) International debt market.
b) Bretton woods system.
c) Global Depository Receipts (GDRs)

d) Bank for International Settlements (BIS)

SISIS
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Total No. of Questions : 5]

P3487

[4764] - 319
M.Com. (Semester - I1I)

ADVANCED BANKING AND FINANCE

International Finance

(2008 Pattern) (Group - G) (Special Paper - VI)
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Total No. of Questions : 5] SEAT No. :
P3488

[Total No. of Pages : 4
[4764] - 320

M.Com. (Semester - I1I)
ADVANCED MARKETING
Marketing Research (Special Paper - VI)

(2008 Pattern) (Group - H)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Define Marketing Research? Explain in detail the role of Marketing Research
in Marketing.

OR

Define Research Design? What points are to be considered, while preparing
research - design? Explain.

02) What mean by Marketing Intelligence? Explain the significance of Marketing
Intelligence in decision making.

OR

Explain the sales analysis concept by - territory, by - product, by - customer,
by - size order.

03) What do you know about Market potential Analysis? Explain the various
methods of market potential Analysis.

OR

What mean by Cluster Analysis? How cluster analysis is useful for
identy- fying market segment? Explain.

04) Explain the difference between readership-survey and viewership survey.
OR
Write notes on
a) Industrial Marketing Research
b) Consumer Marketing Research

PTO.



05) Write short Notes on: (Any Four)

a)
b)
c)
d)
e)
f)

Discriminate Analysis.

Sales forecosting.
Multi-dimensional scaling.
Advantages of data collection.
Hypothesis.

Product - Research

SISIS
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Total No. of Questions : 5]

P3488

[4764] - 320
M.Com. (Semester - I1I)
ADVANCED MARKETING
Marketing Research (Special Paper - VI)

(2008 Pattern) (Group - H)
(ATt TUTAR)

9% ; 3 | [wegor 701 : 100
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Total No. of Questions : 5] SEAT No.

P3489 [Total No. of Pages : 4
[4764] - 401
M.Com. (Semester - 1V)
CAPITAL MARKETS AND FINANCIAL SERVICES
(2008 Pattern) (Compulsory)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) What do you mean by 'Capital Market'? Explain in detail the structure and
functions of capital market.

OR
a) State the participants of capital market.

b) Describe in detail the future contract.

02) What is Primary Market? State participants of primary market. Describe in
detail the functions of primary market.

OR
Write notes :
a) Objectives of secondary market.

b) Bombay stock exchange.

03) What is credit Rating? Describe in detail the various credit rating institutions.
OR

What do you mean by 'Merchant Banking'? Describe in detail the functions
and various services rendered by Merchant Banker.

PTO.



04) What is Securities and Exchange Board of India (SEBI)? Explain in detail the
powers and functions of SEBI.

OR

a) Explain the term External commercial Borrowing.

b) Explain the need of foreign Investment in India.
05) Write short notes (Any Four) :

a) Foreign Institutional Investors (FIIs)

b) Advantages of Listing

c) Types of mutual funds

d) Background of SEBI

e) E-Broking

f)  Forward Contract

[4764] - 401 2



Total No. of Questions : 5]

P3489
[4764] - 401
M.Com. (Semester - 1V)
CAPITAL MARKETS AND FINANCIAL SERVICES
(2008 Pattern) (Compulsory)
(TSt TUTaR)
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Total No. of Questions : 5] SEAT No.

P3490 [Total No. of Pages : 4
[4764] - 402
M.Com. (Semester - 1V)
GLOBAL INDUSTRIAL ENVIRONMENT
(2008 Pattern) (Compulsory)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.
3) Answers should be precise and to the point.

Q1) What s liberalisation? Explain the effects of liberalisation on Indian Industries.

OR

Explain in detail the Internal sources of Industrial finance.

02) Write short notes (Any Two) :
a) Industrial policy 1991.
b) Floriculture.
c) Methods of privatisation.
d) Information Technology Industry.

03) Explain in detail the effects of Globalisation on Indian Industry.
OR

Explain the progress and problems of Iron and steel Industry in India.

04) What is multinational corporations? Explain the advantages and disadvantages
of multinational corporations.

OR

State and explain the features and problems of Indian Industrial Labour.

PTO.



05) Write short notes (Any Two) :
a) Role of foreign capital
b) Export-Import policy 1991
c) Contract Labour

d) Sericulture

[4764] - 402 2



Total No. of Questions : 5]

P3490
[4764] - 402
M.Com. (Semester - IV) (Compulsory)
GLOBAL INDUSTRIAL ENVIRONMENT
(2008 Pattern)
(TS EUTR)
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Total No. of Questions : 5] SEAT No.

P3563 [Total No. of Pages : 7
[4764] - 403
M.Com. (Semester - 1V)
OPERATIONS RESEARCH (Mathematics)
(2008 Pattern) (Compulsory Paper) (Credit System)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Use of statistical tables and calculator is allowed.
4) Symbols have their usual meanings.

Q1) Attempt any four of the following : [20]
a)  Write notes on :
i)  Laplace Criterion
i)  Minimax Criterion

b) While using simplex method, when are the following special cases
identified;

i)  Degeneracy

i)  Multiple Optimal Solution
iii) Unbounded Solution

iv) Infeasible Solution

c) Solve the following game :

Player B

1 3 1
Player A0 —4 -3
1 5 -1

d)  Write the dual of the following L.P.P.

Maximize z = x, + 2x2 — X,

PTO.



Subject to constraints :

2X —3X, +4X, <5

2X, — 2X, <6

3X, — X, >4
X, Xy, X, 20

L]

e) Define Strategy. What do you mean by pure strategy and mixed strategy?

f)  Determine the shortest route from node 1 to node 6 in the following
network, where the distances are shown in Kilometers.

02) Attempt any four of the following : [20]
a)  Write notes on :
i)  Saddle point
i)  Value of game
iii) Fair game
iv) Maximin Criterion
v)  Hurwicz Criterion

b) Explain how will you obtain optimal solution to minimize transportation
problem using U - V method?

c)  Write the standard form of the following L.P.P.
Min. Z =x, — 3x, + 2x,
Subject to :

3X =X, +3x, <7
—2X, +4X, <12
—4x, +3x, +8x, =-10

Xy X, % 20

[4764] - 403 2



d) Pay-off of three acts A, B and C and states of nature X, Y and Z are
given below :

Acts — A B C

States of nature |

X 50 | =20 |—250
Y 400 | 440 | 400
Z 650 | 740 | 750

The probabilities of the states of nature are respectively 0.2, 0.5 and 0.3.
Calculate the Expected Monetary Value (EMV) for the above data and
select the best act.

e) Find Minimum Cost Spanning Tree for the following Network V :

f)  Obtain Initial Basic Feasible solution using North West Corner method
for following T. P.

estination —| D, D, D, D, |Supply
Origin 4
0, 23 [ [27] Tie| Tis] 30
0, 12 | [17] [20] [s1] 4o
0, |22 | 28| |12] [32| 53
Demand 22 35 25 41 123

Also find the corresponding transportation cost.
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03) Attempt any four of the following : [20]

a)

b)

d)

Define Network. Explain what do you mean by Directed and Undirected
Network? Also explain the terms Node and Arec.

Consider the following game :

Player B

15 2 3
PlayerA|6 5 7
-7 4 0

Obtain saddle point. Also state optimal strategy for player A and player
B. Hence find the value of game.

Explain the following with reference to L.P.P.
i)  Entering variable
i) Leaving variable

Obtain Initial Basic Feasible Solution using Matrix Minima Method for
the following transportation problem.

Destination —»| D, D, D, D,| Supply
Source |
S, 30 25| [40] [20] 100
S, |29 |26 |35 | [40] 250
S, [ 31| |33 | |37 30| 150
Demand 90 160 | 200 50 500

Also find the corresponding transportation cost.
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e) Show that the following L.P.P. has unbounded solution.
Maximize Z = 3x, + 2x, + 5x, + 4x,
Subject to :
4x, +6X, — /X, +8x, 2-15
3X, —2X, +4x,+x, <10
8X, —3X, —3%, +2x, <20
X1 Xy, X5, X, 20
f)  Explain the following terms with reference to transportation problems.
i)  Basic feasible solution
i)  Dummy Source
04) Attempt any two of the following : [20]
a) Find the optimal solution for the following transportation problem using
MODI method :
Destination —| D, D, D, D, | Supply
Source
F, is| Lo [z} [18] 2
F, 16 13 (12| [13 6
F, 2 [r] Jaof [uf 7
Demand 3 3 4 5 15
Also find the corresponding transportation cost
b) 1)  Explain minimum cost capacitated network.

i)  State Dominance principle in game theory.
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c) Solve the following L.P.P. using simplex method.
Minimize Z = x, — 3x, + 2x,
Subject to :

3X, —X,+3x, <7
—2X, +4X, <12
—4x, + 3%, +8x,<-10

Xy Xps X, 20

05) Attempt any two of the following : [20]

a) From the following pay-off table (of profit) determine optimal strategy
using maximum, maximax and Laplace Criterion.

States — A B C
Strategiesd
S, 7,00,000 3,00,000 1,50,000
S, 5,00,000 4,50,000 0
S, 3,00,000 3,00,000 3,00,000

b) Solve the following L.P.P. using Big M method.
Maximize Z = 3x, —x,
Subject to :

2X +X, 22
X, +3X, <3
<4
X, X, =20

X
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c) Obtain Initial Basic Feasible Solution using Vogel's Approximation method
for following T. P.

Markets — D D D, | Supply

Sources

2
A o o] To]
B 5 1 0 20
C 5[]
D AREEAEE
Demand 25 10 15 20

Also find the corresponding transportation cost
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Total No. of Questions : 5 SEAT No.

P3492 [Total No. of Pages : 2
[4764] - 404
M.Com. - Il (Semester - 1V)
ADVANCED ACCOUNTING AND TAXATION
Recent Advances in Accounting, Taxation and Auditing
(2008 Pattern) (Group - A) (Special Paper - V1I)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1) Attempt all questions.
2)  All questions carry equal marks.
3) Figures to the right indicate full marks.

Q1) Explain in the context AS and IFRS :

a) Recent Trends in disclosure of Accounting policies. [10]

b) Areasinwhich differing accounting policies are encountered. [10]
OR

What do you mean by “Transfer pricing”? State the different methods of transfer

pricing and explain the benefits and limitations of dual price method. [20]

Q2) Explain the methods and application of strategic management accounting.[20]
OR

State the provisions regarding audit committee as per clause 49 of listing
Agreement.

Q3) State the nature of Intellectual property. Explain the various types of Intangible
assets. [20]

OR

What do you mean by term carbon credit. State advantages and taxation
aspect of carbon credit trading.

P.T.O.



Q4) What do you meant by Responsibility Accounting? State objective, advantages

& limitations of responsibility accounting. [20]
OR
Define Human Resource Accounting. State history of Human Resource
Accounting.
Q5) Write short notes on (any four) : [20]

a) Creative Accounting.

b) Employees Stock Option Accounting.

c) Basic of Forensic Accounting.

d) Environmental Accounting.

e) Advantages of Government Accounting.

f)  Importance of Discloser of financial statements.
g) Approaches regarding grant received to NGO.

000
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Total No. of Questions : 5] SEAT No.

P3493 [Total No. of Pages : 2
[4764] - 405
M.Com. - Il (Semester - IV) (Special Paper - VII)
ADVANCED - COST ACCOUNTING AND COST SYSTEM
(Group - B)
Recent Advances in Cost Accounting & Cost Systems
(2008 Pattern)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) a) Definethe following terms in one sentence. as per “CAS” (Any Five)[10]
)  Material
i) Indirect Expenses
i) Scrap
Iv) Variable Cost
v) Standard Cost
vi) Cost Centre
vii) Overheads

b)  Write short notes on the following as per ‘CAS’ (any two) [10]

I)  Allocation of overheads
i)  Marginal costing
i)  Classification of cost
Iv) Indirect Labour

Q2) What do you understand by the term “ERP”
a) “Enterprise Resource Planning” State reasons for its implementation.[10]
b) Explain the meaning and scope of VAT audit. [10]

P.T.O.



Q3) Describe 5 ‘s’ and explain the meaning of six sigma. How do they serve as
technique of cost control [20]

Q4) Explain the nature and scope of productivity
a) Audit [10]
b) State meaning and scope of excise Audit. [10]

Q5) a) Comment on the article published in the journal “The management
Accountant” on “Challenges facing rural Co-operative Banks”. September
2013 by Dr. Sougata Chakrabarti [10]

b) Objectives of CAS. [10]
*040¢
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Total No. of Questions : 5] SEAT No.

P3494 [Total No. of Pages : 4
[4764] - 406

M.Com. (Semester - 1V)

RECENT ADVANCES IN BUSINESS PRACTICES AND
ENVIRONMENT

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All the questions are compulsory.
2)  All questions carry equal marks.

Q1) Explain the features of Industrial, Investment and Infrastructural Policy of
Maharashtra, 2006.

OR
Explain the role of Gram Udyog Vasahatas and Urban Haat.

02) Explain the recent schemes by MSME (Micro Small and Medium Enterprises)
OR
What do you mean by ‘Self Help Group’? Trace the evolution of SHG.

Q3) State the role of Service Training Institute in development of trained personnel.

OR
Explain the Do’s and Don’ts of Self Help Group.

04) Explain the meaning, scope and importance of Environment Audit
OR

Explain the concept of Corporate Governance. Include the contemporary
examples in support of your answer.

PTO.



Q5) Write short notes (Any FOUR) :

a)
b)
c)
d)

e)

Labour Market Information Cell
Rajeev Gandhi Udymi Mitra Scheme
Limitations of Environment Audit

Role of Nominee Director

BPL Norms
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Total No. of Questions : 5]

P3494
[4764] - 406
M.Com. (Semester - 1V)
RECENT ADVANCES IN BUSINESS PRACTICES AND
ENVIRONMENT
(TS TUTAR)
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Total No. of Questions : 5] SEAT No.

P3495 [Total No. of Pages : 4
[4764] - 407
M.Com. - Il (Semester - 1V)
BUSINESS ADMINISTRATION
Recent Advances in Business Administration
(Group - D) (2008 Pattern) (Special Paper - VII)

Time : 3Hours] [Max. Marks : 100

Instructions to the candidates:
1)  All questions are compulsory.
2)  All questions carry equal marks.

Q1) Why people resist the change? How is it possible to overcome such resistance
to change.
OR

What do you mean by Total Quality Management (TQM)? What are the
principles and merit - demerits of TQM?

Q2) What are the steps or methods of six - sigma? Explain the utility of six - sigma
in various Indian Industries.

OR
What do you mean by ERP? Explain the tools and merits, demerits of ERP.

Q3) “The skill of cross cultural management plays a very vital role in business in
the era of globalization” Discuss.

OR

Explain the role & importance of acquisition & merger of companies in modern
era.

Q4) What do you mean by re - structuring of business? Explain the various steps
in re - structure of sick - business.

OR

What is turn around management? Explain the process, importance & steps
in turn ground management. PTO



Q5) Write short notes (Any Two)

3)
b)
c)
d)

e)

Features of change management.
Principles & Merits of ‘Kaizen’.

*5” s principles in quality management.
Computer & ERP

Importance of Global Management.

4000
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Total No. of Questions : 5]

P3495
[4764] - 407
M.Com. Il (Semester - 1V)
BUSINESS ADMINISTRATION
Recent Advances in Business Administration
(Group - D) (2008 Pattern) (Special Paper - VII)
(FUS EUTR)
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Total No. of Questions : 5] SEAT No. -

P3496 [Total No. of Pages : 2
[4764] - 408
M.Com. (Semester - 1V)
COMMERCIAL LAWSAND PRACTICES (GroupE)
Recent Advances in Commercial Laws and Practices
(2008 Pattern) (Special Paper - VI1)

Time :3Hours] [Max. Marks :100

Instructions to the candidates:-
1)  All questions are compulsory.
2)  All questions carry equal marks.

Q1) Explain the following terms in detail. Which fall under Information Technology
Ac, 2002 :

a) E - Governance
b) Adjudication.
c) Cyberregulation.

OR

What do you mean by “Right to Information”? What are the duties of Public
Information Officer?

Q2) Explain the following terms with reference to companies Act 1956.
a)  Listing Agreement
b) Deposit of Wills
c) Legal documents under Companies Act.

OR

What are the objects and powers of the Securities and Exchange Board of
India Act 19927

Q3) What are the instruments chargeable to stamp duty? Explain the powers of
State Government relating to stamp duty under Indian Stamp Act, 1899.

OR

What are the measures taken to prevent misuse of information released under
Right to Information Act?

P.T.O.



Q4) a)

b)

a)

b)

Write a detail note on “Establishment of Appellate Tribunal’.
Write a detail note on *Audit of Securities and Exchange of India.

OR

Explain the Information Commissioner Powers.
Explain the importance of Securitization Act 2002.

Q5) Write short notes (any four) :

3)
b)
c)
d)
€)

Digital signature

Cyber crime.

Inside trading

Object of Debt Recovery Act, 1993

Optional registration.

000
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Total No. of Questions : 5] SEAT No.

P3497 [Total No. of Pages : 4
[4764] - 409
M.Com. (Semester - 1V)
CO-OPERATION AND RURAL DEVELOPMENT
Recent Advances in Co-operation and Rural Development
(2008 Pattern) (Group - F) (Special Paper - VII)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Discuss the causes of sickness in co-operative institutions.
OR

State the importance of co-operative leadership in the wake of globalisation.

02) What has been the impact of globalisation on co-operative institutions.
OR

What strategy should the co-operatives adopt for meeting the global challenges?

03) Discuss the formation and organization of self-help groups.
OR

Discuss the role of self-help groups in rural development.

04) What are the various reasons for farmer's suicides in India.
OR

Discuss the various short and long term measures adopted by the government
for mitigating rural distress.

PTO.



05) Write short notes (Any Two) :

a)
b)
c)
d)

Economic viability of co-operatives
Six Sigma Technique
Empowerment of women through self-help groups.

Self sustaining rural development

[4764] - 409 2
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P3497

[4764] - 409
M.Com. (Semester - 1V)

CO-OPERATION AND RURAL DEVELOPMENT

Recent Advances in Co-operation and Rural Development

(2008 Pattern) (Group - F) (Special Paper - VII)
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Total No. of Questions : 5] SEAT No.

P3498 [Total No. of Pages : 4
[4764] - 410
M.Com. (Semester - 1V)
ADVANCED BANKING AND FINANCE

Recent Advances in Banking and Finance
(2008 Pattern) (Group - G) (Special Paper - VII)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) How is customer defined for Know Your Customer (KYC) Policy? Explain in
detail the KYC policies laid down by the RBI.

OR
Explain in detail the ‘Banking Ombudsman Scheme, 2006°.

Q2) What do you understand by technology in banking? Do you think full
computerisation is essential for core banking solution? Explain your answer.

OR

With introduction of Universal Banking the existence of Development Banking
has become obsolete. Explain.

03) Explain in detail the commercial paper and certificate of deposit with respect
to the following;:

a)  Who can issue and eligibility to issue.
b) Minimum face value of the instrument.
c) Maximum size of the issue.
d) Transferability and buy back.

OR

Explain the developments that have come about in the capital market of India
with special reference to the new issues market.

PTO.



04) Explain in detail the recent developments in the Indian Money Market with
reference to

a) Money Market Derivatives.
b) Collateralised Borrowing and Lending Obligation.

OR
Explain the functions performed by the following stock exchanges of India
a) BSE
b) NSE

05) Write notes on (Any Two) :
a) Dematerialisation - Meaning and usefulness.
b) Benefits from mutual fund investment.
c) Money market mutual fund.

d) Recent cases of bank mergers in India.
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P3498
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M.Com. (Semester - 1V)
ADVANCED BANKING AND FINANCE

Recent Advances in Banking and Finance
(2008 Pattern) (Group - G) (Special Paper - VII)
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Total No. of Questions : 5] SEAT No.

P3499 [Total No. of Pages : 4
[4764] - 411
M.Com. (Part - I1) (Semester - 1V)
ADVANCED MARKETING
Recent Advances in Marketing
(2008 Pattern) (Group - H) (Special Paper - VII)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) What is Strategic Choice? Explain the procedure of Strategic Choice. [20]
OR

Explain the concept and process of Integrated Marketing Communication.

Q2) State the meaning of ‘Data Base Marketing’. Explain the elements and functions

of Data Base Marketing. [20]
OR
Define ‘Channels of Distribution’. Explain different types of Channels of
Distribution.
03) What is retailing? Explain various types of Retailing. [20]
OR

Define ‘Strategic Service Management’. Explain sustainable competitive
advantage of strategic Service management.

04) Explain the ethics and social responsibilities in Integrated Marketing

Communication Campaigns. [20]
OR

Elaborate the concept, components and significance of Supply Chain

Management.

PTO.



Q5) Write short notes on: (Any four)

a)
b)
c)
d)
e)
f)

Strategic Identification

Media Jargon

Customer Relationship Management (C RM)
Channel Selection Criteria.

Floor ready Merchandise.

Government Service

[4764] - 411 2
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Total No. of Questions : 5]

P3499
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M.Com. (Part - I1) (Semester - 1V)
ADVANCED MARKETING

Recent Advances in Marketing
(2008 Pattern) (Group - H) (Special Paper - VII)
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M.Com. (Semester - 1V)
ADVANCED ACCOUNTING AND TAXATION
Case Studies in Advanced Accounting - Taxation & Auditing
(2008 Pattern) (Optional) (Special Paper - VIII)

Time : 3Hours] [Max. Marks :100
Instructions to the candidates:

1) Attempt question No. 1 is compulsory and any three from the remaining.

2) Figures to the right indicate full marks.

3) Use of non-programmable calculator is allowed.

Q1) State with reasons, whether the following expenses are admissible as a
deduction while calculating income from business on profession. [25]

a) Payment of X. 50,000 made to sharada co. for acquisition of good
will.

b) litigation expenses of X 35000 for registration & shares.
c) Expenditure of X. 30,000 on shifting of registered office

d) Expenditure of X. 50,000 incurred by the assessee on plantations in
factory premises and residential quarters of Co., with a view to making.

e) Loss of X. 35,000 of stock in trade is destroyed by natural Calamatics.

Q2) As an Auditor state with reason, whether the following items are capital or
revenue. [25]

a) Legal expenses incurred in raising debenture loan.
b) Labour welfare expenses.

c) Subsidiary received from Government.

d) Legal charges incurred on income tax appeal

e) Replacement cost of a worn-out part of plant.

P.T.O.



Q3) Following financial data are given:

Sales 2,00,000
Stock 1,00,000
Credit sales 1,50,000
Debtors 75,000
Total Assets 3,00,000
Share Capital

(10,000 shares of .10 each) 1,00,000
Net profit before tax 50,000
Market price per share 20
Tax 50%
Compute :

a) Stock Turnover Ratio
b) Creditors Turnover Ratio
c) N.P.to Total Assets ratio
d) Price Earning (P/E) ratio
e) Earning per share (EPS)
Give your opinion on each ratio. [25]

Q4) A Ltd. Company is considering different methods to finance its investment
proposal. It is estimated that initially ¥ 40,00,000 will be needed. Two
alternative methods are available for raising the funds.

a) To raise X. 20,00,000 by sale of equity shares of . 100 each and
balance at 18% term loan.

b) To raise the entire amount by sale of equity shares of .100 each.
The existing capital structure of the company consists of

a) 50,000 equity shares of X.100 each

b) 17%. Term loan of X. 20,00,000.

The expected EBIT (Earnings before interest & tax) is 15,00,000.
Advise The company on the basis of EPS (Earning per share) in each
alternatives. Income tax is 50%. [25]
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Q5) a) Raw Materials purchased at .10 per kg. price of materials is on the
decline. The finished goods in which the raw material is incorporated
to be sold at below cost. 1,000 kgs of raw material is in stock at the
year-end. Replacement cost is .8 per kg. How will you value the
inventory.

b) Z Ltd. Purchased a machine costing X.5 lakhs for its manufacturing
operations & paid transportation cost ¥.80,000. Z Ltd. spent an
additional amount of ¥.50,000 for testing & preparing the machine
for use. What amount showed Z Ltd record as the cost of machine?

[25]
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M.Com. (Semester -1V)
ADVANCED COSTACCOUNTING AND COST SYSTEMS
Case Studies in Advanced Cost Accounting and Cost System

(2008 Pattern) (Paper - VIII) (Group - B)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Attempt any four questions.

2) Each question carries 25 marks.

3)  Use of non-programmable calculator is allowed.

4) Marks are awarded not to the length, but to the content of your answer.

Q1) You have been appointed as Cost Consultant by a construction company.
The company is engaged in construction of dwelling houses at different sites
in the big cities of Maharashtra. Construction material is transferred from one
site to another depending on the site specific requirements. Concrete mixing
plant is also exchanged between different sites depending upon the requirement
at the site. Design various documents required to account for :

a) Inter site transfer of material.

b) Total cost of construction of each site,

c) Ascertainment of profits/loss of each site.

Note : You may assume suitable numerical data for the purpose of your presentation.

02) Comfort Travels has started a new route from Pune to Nagpur. The operating
data is given below.

a) One way distance from Pune to Nagpur is 900 kilometers.
b) Capacity of the Volvo Bus : 50 passengers
c) Occupancy Factor : 100% towards Nagpur and 80% towards Pune.

d) Three trips from Nagpur to Pune and Three trips from Pune to Nagpur
are made in a week by two Buses. Each bus costing at Rs. 50,00,000, on
which a depreciation of 20% is charged for the purpose of ascertainment
of operating cost.

e) Annual Road Taxes and License Fees amounts to Rs. 2,40,000/-.

f)  Tyre replacement cost after every 1,00,000 kms is Rs. 1,20,000/-.
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03)

04)

05)

g) The company has maintained two offices, one in Pune and the other at
Nagpur, for which the average office overheads are Rs. 40,000 pm for
Pune Office and Rs. 25,000 pm for Nagpur Office.

h)  Annual Insurance is 5% of the Cost of the Bus.

i)  The salaries and wages of the drivers, conductors and cleaners amounts
to Rs. 1,00,000 per month.

j)  Company contributes to 10% of the fixed salary as contribution to PF.

k) Entry Fee of Rs. 1,400 is paid for entry into Pune and Entry Fee of
Rs. 1,200 is paid for entry into Nagpur.

1)  Annual Maintenance cost per bus is Rs. 2,00,000/-
m) Bus runs at an average of 4 kms. Diesel costs at Rs. 50 per liter.

n) Buses operate for 50 weeks in a year, 2weeks in a year being used for
overhaul and maintenance.

Comfort Travels operate on a margin of 40% on the cost.

Considering the above facts, prepare a statement of Operating Cost and
find out the fare per passenger for Nagpur journey.

"You may earn profit even if a product is sold below its total cost; but sold not
certainly below its marginal cost.' Discuss the implications of this statement
with practical examples from Marginal Costing. Also explain the applications
of Marginal Costing technique.

Your company has received an order for supply of bearings to a company
from UAE. The value of the order is US $ 1,00,000. The order is to be
executed before 30" June, 2013. However, your plant capacity is not sufficient
to manufacture the required bearings. Your management is thinking the option
of outsourcing the shortfall and has asked you to evaluate the cost benefit
analysis of the proposal of out souring the shortfall in the order. Imagine the
most rational data and draft the proposal for submission to the top management,
highlighting the pros and cons of 'Outsourcing' from cost point of view.
Assume suitable numerical data for the purpose of your answer.

You are appointed as Budget Controller of a Multi National Group. Your
company operates through its subsidiaries spread in 15 countries across the
globe. The process of budget starts every year in the month of January and
the final budget is ready in March for its execution from April of the financial
year. You have called a meeting of Heads of the Finance Division of each
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group company. Prepare an agenda to be discussed in such meeting highlighting
in it the role and responsibilities of each group head. Which additional factors
you have to presume in preparing budget for the group as a whole differentiating
it from the budget of the individual entity in that group? Make suitable
assumptions in support of your answer.

06) Cook well Ltd. Manufactures pressure cookers, the selling price of which is
Rs. 300 per unit. Currently the capacity utilization is 60% with a sales turnover
of Rs. 18 lakhs The company proposes to reduce the selling price by 20%
but desires to maintain the same profit position by increasing the output.
Assuring that the increased output could be made and sold, determine the
level at which the company should operate to achieve the desired objective.

The following data are available :
a) Variable cost per unit Rs. 60.

b) Semi-variable cost (including a variable element of Rs.10 per unit) is Rs.
1,80,000.

c) Fixed Cost Rs. 3,00,000 will remain constant up to 80% level, beyond
which an additional amount of Rs. 60,000 will be incurred.
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M.Com. (Semester -1V)
CASE STUDIES IN BUSINESS PRACTICES
Business Practices & Environment
(2008 Pattern) (Special Paper - VIII) (Group - ¢)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory from Part - One.

2) Solve any 3 cases from Part - Two.

3) Figures to the right indicate full marks.

Part - One

Q1) 'Managerial devisions can be assisted by case study', Explain. [15]
OR
Write a detailed Note on approaches to case study method.

02) Explain the method of Analysing the case & its limitations in detail. [10]
OR
Explain various objectives of case study and its role in management as a
learning method.

Part - Two (Case Study)

Case-1: National carpets (NC) makes three categories of products :  [25]
Artificial fibre carpet, wood carpet, and carpet Backing and many
types of other two products. The types differ with regard to colours
and patterns. Many of the batches produced were unusually large
when plenty of finished goods have to be maintained awaiting sales.
Production supervisor argued that it was a plain economics. The
production control Manager Mr. Srinivas has been charged with
investigating the production scheduling for N.C. Recently they have
a difficulty in meeting delivery dates, since the factory has been
operating at 100% capacity. Srinivas believes that too much time
has been lost in changing over from one product to another.
Analyse the case and answer the following Questions.

a) What measures do you suggest to reduce the set up time, which is
the problem?
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b)

Case -2 :

What are your recommendations of smoothing of production flow
to meet customer delivery commitment.

Comment on the production system efficiency.

You are a manager of a large toy company. After an extensive
study of operation you have approved installation of new machine
and New scheduling system. This investment is expected to result
in substantial increase in number of units produced and decrease in
manufacturing costs. To the surprise of everyone, the production
has not increased as expected. In fact, production has dropped,
Quality has fallen off and worker complaints have increased.

You believe that there is nothing wrong with the machines.
The manufacturer's representatives have throughtly. Checked the
operations in plant and are satisfied that they should operate at
peak efficiency.

You have to reason to believe that new scheduling system may
be the culprit. But your immediate subordinates insist that the new
system is operated as intended. Some subordinates believe the drop
in production is entirely due to worker psychology. It is caused by
a combination of factors such as poor training, poor supervision,
lack of financial Incentives & Poor morale.

Your president called you in the morning and has reviewed
your production figures for the last Quarter, He is concerned about
the effectiveness of your investment decision to acquire new
machines. He indicated that the problem was yours and he wanted
to know. What actions you intend to take to resolve this situation
within one week? [25]

Questions :

Case-3 :

[4764] - 414

a) Analyse the case.

b) How critical is time in making devision?

c) What steps would you suggest to fix the problem?

d)  Whatmeasures you suggest to ensure favourable work Environment.

There was a serious strike in a big scale Engineering Industry. The
nature of the Industry was such that the major strength of workers
was coolies. The Mukadam of labour was coming every day on duty
not allowing workers to come to work. He was a leader of the union.



Case-4:

[4764] - 414

The General manager of the industry was having a serious
problem because of the workers had a very strong union. After
serious thought and consultation with his colleagues and
subordinates, the General manager devised a method of which he
could attempt calling off the strike. He called the Mukadam and
told him that it was an opportunity when all the relations and freinds
of the Mukadam could be employed because the management had
devided to take fresh labour.

The mukadam fell for the biat and next day these were 50
relatives of the mukadam working in the factory. This created the
desired effect on the workers on strike and they also started coming
to work in few days. Now, the newly employed workers who were
related to mukadam started bragging about their relationship to the
mukadam and they were not doing any work. This was an
opportunity, the General Manager proved the in efficiency of the
Mukadam, these by terminating his services. This way the strike
was compeletly called off and the main person responsible for the
strike, 1-e-the Mukadam, was removed from the services. [25]

Analyse the case.

Explain the role of Mukadam in strike.

Critically examine the role of General manager.

Give your suggestion for not to create some type of situation in feature.

Your are the manager. Your assistant, Madhuri, has worked for you
over the past two years. During that time you have learned to respect
the clerical and word processing skills she demonstrates. However,
your are concerned about other areas of her job that, in your view,
reflect substandard performance. On occasion, it seems that she
does not hear your requests, or if. Occasionally she performs tasks
different from those you have assigned. For example, Just last day
you asked that she make arrangements for a part time computer
programmer to handle a special project. No programmer turned up
this morning to take on the assignments.

When you asked Madhuri about the situation, she forgot to
make the phone call because she was so busy preparing a lengthy
mailing that you had given her the day before. You become frustructed
by her response, as similar incidents had happened many times in
the past. You wondow if the reason incidents like these keep
happening is due to a lack of listening skills on her part or a result of
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a)
b)

c)

[4764] - 414

poor time management skills. Your have heard complaints from others
who must work with her from time to time, so you are confident that
your judgement is accurate in this matter, whatever the cause, you
have decided that this is the time to discuss this with her. [25]

Analyze the case
State, how will you manage the situation?

State the measures to avoid these types of situations in future.
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M.Com. (Semester -1V)
BUSINESS ADMINISTRATION

Case Studies in Business Administration
(2008 Pattern) (Group - D) (Special Paper - VIII)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

01)

02)

03)

1) All questions are compulsory.
2) All questions carry equal marks.

What do you mean by Case Study Approach? Evaluate Advantages and
limitations of case Study Approach.

OR
Explain the role of case study in managerial decision making.

Explain in detail with suitable practical examples various routine as well as
strategic decisions taken by the Board of Directors of any corporate form or
organization.

OR
Describe the various approaches of case study method.

Hindustan Product Ltd. is a big factory with a turnover of Rs. 20 Crore and
with 800 workers. You have been in the office of its Factory Manager, Mr.
Krishnan, for nearly 40 minutes. During this Short period you have found that
your conversation with him has been interrupted several times. First, it was
the Office Manager who rang him to get his approval for samples of office
stationery. Mr. Krishnan sends for the samples. Then comes the ring from a
Supplier who informs Mr. Krishnan that a particular part of Machinery which
is otherwise not available in the market, can be had from him. Mr. Krishnan
rings the storekeeper to purchase Manager might have placed. Then there is a
ring from a customer requesting Mr. Krishnan to allow a higher percentage of
discount than that promised by the company's Sale Manager.

Mr. Krishnan not only turns down the request but also expresses his surprise
at the high percentage already allowed by the Sales Manager. Finally, a foreman
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enters and complains that a certain part of one machine is broken and it not
being avilable in the stock, the production may suffer. Mr. Krishnan asks the
foreman to tell the purchase Manager to order the part immediately.

Analyse the case and elucidate the problem and possible solutions.
OR

Wipro Ltd. is engaged in export of Strawberry to European Countries. It has its
estates in the surroundings of Mahabaleshwar, in Satara District. Its average annual
turnover is in the range of 20-30 crores during last three years. It has been observed
during last quarter of the year that its export income has been showing a reducing
trend. Market has become volatile and margin on sales is declining. You have been
appointed as the Management consultant to evaluate this problem and report to
the management about your suggestions to boost sales for the year 2012-13. Your
report must analyze existing problem and remedial measures to overcome it through
the marketing strategy. You may assume any logical data designing the report.

04) After securing the M.B.A. degree in First Class, from a prestigious college in
Mumbai, Rohit, the son of a big businessman, wanted to start a new business.
In that case he was sure to get financial support from his father. In fact before
deciding on a venture his father suggested him to visit a few western countries.

Rohit met to john adwin in London. Jhon was senior to him by about seven to
eight years but due to his frank and jolly nature, they soon become friends.
John was a leading chocolate manufacturer in England. His 'Winta' brand
chocolate was popular even in U.S.A. and Canada. In view of the increasing
middle class population in India, John was also in search of an Indian partner.
The matter was discussed by them and John assured Rohit all sorts of technical
assistance.

Rohit returned to India with great enthusiasm. Rohit and John started a
chocolate factory in the Mumbai Industrial Estate. They introduced two types
of chocolates with the Brand name of '"Vinit'. One chocolate had a ginger
flavor and the other had cardamom flavor. In the western market these flavors
had sustained popularity. The packaging was novel and attractive. The brands
were launched on 1% January. Big advertisements were made on T.V. channels
and through National English newspapers. Children and the youth was the
target group.

The sales went on climbing up till March. But from March, the temperature
started rising and complaints started pouring from the market. The chocolate
bars melted in the package. Many sellers did not have refrigerators. A number
of dealers informed that the youth did not favour the flavours. Rohit was
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frustrated and John decided to withdraw from the Indian venture.
Analyse the case and elucidate the problem and possible solutions.
OR

You run a management consultancy organization. A client has approached
you to prepare a Project Report to be submitted to avail of finance from
Private bank. Imagine any business and prepare Project Report to be submitted
to the Private bank.
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A METERN 3T gal. el felel Siiehcie 3Meh! & HASHENE! Tkl 2d.
WRATAIA aTedl AETH 1 ielTd Ul Hiellgl TEel W™ WEieR gan 2T, 2t
IIfereEdt ==t Shett SMTUT el g difseh! Tgehr SUAT=l SATYaTEA i gt fae.
HiGa ScETEH TEHd HRAT TR, ST S ter Ui 3 i Gagedn SN st
Tichetedl Wl & whetl. “Torfia” a1 ATamit dF TR dicholed il SN
TR, TR TeRTeT AT T8 gl T geaTell deredren g gl e
TN 1 TEHT ARSI Eiell. Tcheied SReTgl A0l 3 SThyeh gid ST
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TG UTgeh a1 ST Bidl. Wil Hig=araea foshl e e, Wy WredTEd auwH Jied
ToFet TTega AT @ T WRRA T AR 3T 36k faehediHl hosteret. Ugia fARTen
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M.Com. (Semester - 1V)
CASE STUDIES IN COMMERCIAL LAWS & PRACTICES

(2008 Pattern) (Special Paper - 08)

Time : 3Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Attempt any four questions.

2)  All questions carry equal marks.

Q1) Shri. S.P. Morgan started using the Mark "container" as a trade mark for his
freight containers. He spent a huge amount on the advertisement of such
freight containers, so that they become very popular in the market. After ten
years, he applied for registration on the ground that his freight containers
acquired 100% distinctiveness. The registrar refused registration of the trade
mark objecting that the trade mark was discriptive word directly indicating the
Nature and the character of the goods of the trader.

Discuss the case with reference to the relevant provisions necessary for the
registration of trade mark and advise Shri. S.P. Morgan to defend the registrar's
objection.

Q2) Two parties Shri. Ghan a shyam and Shri. Radheshyam applied for registration
of trade mark. They were both rivals and used 'Mathurag Ghee' and Mathura
Ghee trade Marks respectively. Shri. Radheshyam started using '‘Mathurag
Ghee' after laps of five years from the use of trade Mark 'Mathura Ghee'
which was used by Ghanashyam, Shri. Radheshyam has popularised the trade
mark 'Mathura Ghee' by investing huge Amount on Advertisement. The two
trade names were phonetically similar and there was no much difference in
pictorials and monogram. i.e. the trade marks of the rivals. The only difference
was word 'G' registration was granted to neither.

Discuss the case with reference to Trade Marks Law and suggest the plaintiff
regarding the use of trade Mark.

P.T.O.



Q3) In E- Trade agreement signature is based on a systematic methods or
techniques. The two keys on every side of the door and each of these keys
belong to a single party, both the parties stand respectively on each side of the
door and both of them have different keys. One of them is co-incidental with
the key possessed by the other party, since they have agreed on the shape and
the notches in the key (public key). However the other party is not, and none
of the parties knows exactly, what kind of notches the other key will have.
One thing is sure that the door can only be opened when the four keys are in
it. Once both the parties have locked the keys into the door it is possible to
open it and for the parties to be sure that, they can negotiate through that open
door safely without fear that an outsider might interfere in their business.
Discuss the case with reference to authentication records using digital
signatures.

Q4) Jaganmohan launched a feature film named 'Mera Bharat' in the year 2013.
The Author Rupesh Varma claimed that the story of the picture 'Mera Bharat'
was based on his novel published in 2009 titled ‘Mera Desh Mahan'. So Rupesh
Varma claimed royalty of Rs. 25 laks Rs. From Jaganmohan . Howerer
Jaganmohan Devied the 'cherges of Rupesh Varma stating that the story of
'‘Mera Bharat' is totally different than the novel. 'Mera desh Mahan' only some
events are identical and that is only the co-incidence. However Rupesh Varma
filed a case in court of law for the claim of Royalty and also asked for ban on
the release of the film. Discuss the case In detail by stating rules in the prevailing.
Law & state the possible decision that may be given by the Hon. Court.

Q5) Write short notes (any two)
a) Offences Under the copyright Act.
b) Infringement of copyright
c) Geographical Indication.
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TR Tl @ foviw Sraren uE TE RudE el 3hd dl SRETT UR SredigR
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M.Com. (Semester -1V)
COOPERATION AND RURAL DEVELOPMENT

Case Studies in Cooperation and Rural Development
(2008 Pattern) (Group - F) (Special Paper - VIII)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.

2) All questions carry equal marks.

Q1) Mr. Shinde, Branch manager of renowed cooperative Bank is facing following
problems.

a)  Onenewly appointed employee Mr. Sanjeev always remains absent, giving
reason of illness. He is unmarried also he is arrogent.

b) Sudhakar is a Peon. His efficiency has become less. Reason is his habit
of drinking alcohol, that cause trouble to his wife & kids.

c) Mr. Deshmukh is passing officer, having 20 years of Experience. His
knowledge is good, but he is short tempered. Because of this he is
facing problems of non-cooperation from his seniors and Junior
Employees. Hence his utility is less. Before one week Bank Received
complaint about he slapped one employee out side the Branch.

d) Mr. Deshapande is an Accountant. He always forgets. In last 6 months,
many times he failed to sent returns to head office because of Lack of
communication.

e) Mr. Bhave is efficient loan officer. He makes bad use of non-officers of
his Bank, because he knows them very well and has good relations with
them. He takes bribe from members for sanction of loan.

Review Questions

i)  Mr. Shinde wants to solve above problems. Discuss how to solve them.
i)  Which step should be taken to make sudhakar as efficient as earlier.
i) What should be done to make optimum use of Mr. Deshamukh.
iv) How would you help Mr. Deshapande.

v)  What to do about Mr. Bhave.

PTO.



02) Devyani was relieved. The reports was completed and it looked good. She
thought it was the best market analysis report prepared by the Department.
Since the report was competed ahead the scheduled date, she personally
thanked each person in the section. Not only she expressed her appreciation
verbally rather invited everybody for tea.

She submitted the report to Mr. pandey, the marketing Director. When she put it
on the boss table the first reaction of M.D. was, "So finally you get it done". To
this Devyani answered, "Sir, my section went all out to final it. They worked
day and night to beat the schedule and did an out standing Job. May be some
appreciation from you is in order"

Pande said, "Why they required that. After all they are paid for the same. I don't
see any thing special about employees doing what they are assigneel for."

Questions

i)  Contrast both the leader behaviour.

ii)  What do you think that will be the impact of Pandey's behaviour on the
Motivation of Devyani and her people in the department?

03) The sarvodaya urban cooperative Bank established in the year 1976, recently
decided to open a personnel Department in their bank to function on
management line. soon they went for recruitment drive.

Harsh has graduated from the college of business administration, with a
brilliant track record joined as Personnel Manager. There were 125 staff engaged
in this bank. In the first week it self the managing Director called him and said
that, "Harsh, I have been watching you since the first day of yours joining. "I
feel, I must say, you are too nice to people. Remember it just does not work
here. You must be very much excited about the behavioural theories taught to
you in college, but believe me there is more to manage people then just being
nice to them."

Questions
i)  How Harsh should react to managing Director's comment?

i) Do you think managing Director of the co-operative bank understood
and interpreted view correctly.

04) Sarswat cooperative Bank with its Head office at Mumbai and more than 350
branches in the country. 4000 employees is located in the country. Shri thakur,
chairman of the bank, Once voiced an idea setting up a staff training centre in
the bank's head office. The idea soon become a topic of discussion should
be setup such a centre or continue to rely on external training agencies. The
chairman had even visualized the hiring out of the training services of the
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bank, appointed faculty to other cooperative banks, so as to make the training
centre as a profit centre within the bank. Bank's Executive Director is a incharge
of the human Resource management (HRM) and who was responsible for the
training of the employees, through in favour of the idea, however, wondered
whether his department should be run as the peripheral Business activity of
the bank or should in concentrate exclusively on the training of their own
employees, clear opinion was not given by the employees.

Review Questions

i)  Should the bank setup its own training centre or continue with the already
Existing External training system?

i)  Should the bank use its own training contre to train the employee of
other cooperative Banks.

RMARM™XR
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FETeTETd HHE UfvTeroT frum gE suar Sheu= Geelt Het heudl eRid U
e WAl TR TERN TRHE B SRR g ufvient faum uew shere T
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AT TFIET0T TEqeh Y Sarei ?

ii) <R Toa:TEn AU FegTe ST TR TR Sehical HHTT ATTeuT
UITATS! HAT I ?
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M.Com. (Semester -1V)
ADVANCED BANKING AND FINANCE
Case Studies in Banking and Finance
(2008 Pattern) (Group - G) (Special Paper - VIII)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Solve any Five cases from the following.

2) All cases carry equal marks.

0l1) Mr. Patil is a sole trader. He has two accounts with Central Bank of
India, one is a current account and another is a saving account.

The saving account is in the name of Mr. Patil. The current account is in
the name of his business unit i.e. Kapil Trader. The Bank has given overdraft
facility of Rs. 7,00,000/- for the current account in the name of Kapil Trader.

This facility was fully utilised. The amount of overdraft was not repaid
even after the expiry of the overdraft facility.

Mr. Patil saving account has credit balance of Rs. 7,50,000/-

Can the balance in this account be used for the recovery of overdraft
facility given by Central Bank of India?

Give answer with reasons. [20]

02) Give your comments in following situations. [20]

a) Mr. Anand and sons are going to establish a Bank in Private Sector.
i)  Isitnecessary to take R.B.I. permission for bank establishment?[3]
i)  Which condition fulfil by Mr. Anand and sons for opening bank in
Private sector? [2]
b) Mr. Gopal has a Saving Account in Canara Bank. His Saving Account
Balance was Rs. 15,000 on 1% May 2014. Canara Bank had advanced
loan to Mr. Gopal and loan was overdue on 1% May 2014 of Rs. 10,000.
Can Canara Bank use saving Account Balance to recover the over
due loan? [5]
c) On I*Jan. 2014 loan of Rs. 10,000/- has given by Bank of Maharashtra
to Mr. A, who is a trader. Loan recovery instalment is not paid by Mr. A

up to 15" April 2014.

Is it treated as N.P.A. Account? [5]

PTO.



d) Mr. BisaFarmer. On 1* Jan. 2014 Bank of India Provided crop loan to
Mr. B of Rs. 10,000/-. Mr. B did not repay the loan instalment up to
1 May 2014.

Is it treated as N.P.A. Account? [5]

03) Mr. Mohan hires a safe deposit locker provided by H.D.F.C. Bank. In this
regard, answer the following questions. [20]

a) Is H.D.F.C. Bank provide locker to Mr. Mohan? [5]
b)  What is the procedure followed regarding safe deposit transaction? [5]
c) Can Mr. Mohan hire the locker even if he does not have any account

with H.D.F.C. Bank? [5]
d) Can alocker be hired in joint names? [5]
04) Give your comments in the following situation : [20]

a) Mr. Dipak writes to Bank of India that he has lost his Fixed Deposit
Receipt. He request the bank to issue duplicate F.D. Receipt. Will Bank
of India issue duplicate F.D. Receipt to Mr. Dipak? [5]
b) A Public Ltd. company wants to open a current Account with [.D.B.I.
Bank Ltd. Which document must be submitted by A Public Ltd. company
to the Bank for opening Account? [5]
c) An uncrossed cheque of Rs. 10,000/- Payable to Mr. Satish or order is
Presented at the counter of bank for cash payment.Will Bank make
payment of the cheque? [5]
d) Acurrent Account holder does not maintain minimum balance in Account

and draws cheques even with insufficient balance in Account. Should
the bank close the Account? Why? [5]

Q5) Mr. Nitin has a saving account with Bank. The Bank issues a debit card to the
customer. The customer can use the card for making purchases and also use it
as ATM card. With reference to this, give explanatory answer to the following.[20]

a) What is ATM Card? [5]
b) What is Debit Card? [5]
c) Is there any minimum and maximum cash withdrawal limit per day at

ATM? 5]
d) What are the advantages of Debit Card? [5]
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06) Mr. Sharma wants to take loan from Canara Bank. The bank asks him to
provide security against the loan. In this reference explain the following

situations. [20]
a) Mr. Sharma provides Life Insurance Policy as security. [5]
b) Mr. Sharma provides Fixed Deposit receipts issued to him by Canara
Bank as security. [5]

c) Mr. Sharma provides gold Jewellery owned by him as security. [5]
d) Explain the importance of security for loan. [5]
07) Explain the following with reasons. [20]
a) Cheque dated 2" April 2014 Presented on 15" March 2014. [5]
b) Cheque dated 10" Jan. 2014 Presented on 10™ March 2014. [5]
c) Cheque dated 1* Jan. 2013 Presented on 1% Oct. 2013. [5]
d) A cheque presented without Drawer signature. [5]

ARMARMXR
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A) TAETEHL. Th oft Higd A AR 95 IhA ? [5]
F) i Al STTERIETE! ShiuT Ugdt AT ? [5]
F) TS UE.N. SR ol HigH AT ShIVTHE! W AT of e WTesTH B3, ITehetiet ?[ S|
¥) T AN AT WIS O 3t ? [S]
g974) UL uiEedia el TAsiehoT . [20]
) Hed 3 uradl gwWiaea dga off fousk it Jw o sfeemen eE wefaea
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3. Yad 39 Urarien Ufdaeper uanfarseft et sichen ot sherett o,

ot faues =i < SiT Sfeen gea 39 urerdieh ufd Tee g [5]



) 3T IT ETESTh HATGT ShUH .S, 31T A1 slohd oTe] W SASTaare 3118.
1.1, AEAh HUHH ATe] W ek ITSUATHIS! HIVTEhIUTT TG U Skl

TS HIE ? [5]
&) oft afem I fhen steen wwo 3= s ® 10,000/ - =0 o WErha
EARYT TSHETS slehd TG Shedl, T ATV sich USRI ? [5]
T) Uk 6] WAER Wiedrd Yt iges 3aa @ enfut wream gt iges Fwarn
YT THied . [5]

Fh ¢ WId 9§ s IheT ? I 7

gg75)  of fieli o=t <ioha sa @A 3R, Foha TR eite *1E faeial 3. WIdeR g 1
TRET TSt AU 319 SATTUT UEIUH hiE TEULA JUT UH ShIGUITHTS! ¢ ShIS JTuRd 3. 3T

HEHIA YEIet TeIel TISiRiuaTsl 3T . [20]
) TAum. HE WS wE? 5]
W) etz wE U wE? 5]
%) UA.TH. Sl fegaren T8 wevamr fham wure @i 3 ? [5]
T) e FEW EES WY 5]

g7 6) ot vl AT FHAN Sehqd el TG AR ek HATATS Tfaferel AETOft e, =

Teuia et ufeefidie sasieron 4. [20]
) oft vt =it Sfem ferm v wfaegfe revm et e [5]
&) oft vl =i gea Sauredt S s feeielt gfayfd wuE wet e, [5]
®) off Il I e WieTehial FRAT ST ST i TEU HTeY . [5]

g)  whenaErdt afayfee agea | [S]

[4764] - 418 _6-



77 7)  HRUTEE Yt TSI . [20]
) 2wl 2014 = AT IGHETS! sehd 15 At 2014 IS AT el [5]
&) 10 SRET 2014 =1 SR YeRErd 10 ®re 2014 dh wet e, [5]
%) 1 SEr 2013 =1 gA1ew | et 2013 Asht b HEFRATS! @ret e [ 5]
Z) QIR FE Fara IqHTEE eTe sehd TGt Hedl. [5]

[4764] - 418 -7-
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M.Com. (Part - IT) (Semester - IV)
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Case Studies in Advanced Marketing
(2008 Pattern) (Special Paper - VIII)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Part- I carry 25 marks and Part - Il 75 marks.

2) Figures to the right indicate full marks.

PART -1
Q1) Explain the importance of case study method in marketing. [10]
OR

Describe various types of cases.

02) Write short Notes on (Any Three) [15]
a) Case study and Marketing Research.
b) Steps involved in case study.
c) Various Approaches to case study

d) Limitations of case study.

PART - 11
Attempt Any Three Cases from the following

03) Case No. 1 [25]

Construct an effective service marketing strategy profile for each of the
following with reasoning behind the same.

a)  Multi speciality, Hospital.
b) Newly Established Bank.
c) Non-grant Basis course eg — B.B.A. B.C.A. Institute.

PTO.



04) Case No. 2 [25]

Develop appropriate marketing mix for state Government's tourism Board to
promote the Beach sites in Maharashtra.

035) Case No. 3 [25]
Develop marketing plan for the following products.
a) School and college Bags.
b) Bath Soap
c) Hairoil
d) Toys
e) Cosmetics
Q6) Case No. 4 [25]

There is a need for business to adopt green practices for conserving the
environment. Develop a Research Design to carry out the study for Hotel
Industry in India.

[4764] - 419 .



Total No. of Questions : 6]

P3506

[4764] - 419
M.Com. (Part - IT) (Semester - IV)
ADVANCED MARKETING
Case Studies in Advanced Marketing
(2008 Pattern) (Special Paper - VIII)

(AT TATR)

gez : 3 ] 75T 7797 © 100
eAT :— 1) qT gigen @rdl 25 [OT SEd. WFT @ @il 75 uT SEd.

2) ITHiHSier ek guf T FIiaar.
3) @eWiardl gw A TITIlAST UgTaEl.

797 1)

97 2)

97 3)

Wi - afge
foume e =t ugde agea e . [10]
fepen
*aq = fafay ywr favg wa.
eNrgerTa Gt forgt. (Riured i) [15]

HA)  HE & AT oo FvneE
F) hd TS HY THIAY STEUTT U
F) hE e T ey gewn
) HE T = HAl.
HET — g8
WA Uehl HIVIETE! T e drsa

FF. | [25]
Wit g heledl SaTaTs! [UuHT= URUTHERRE STeteHT a1 ShRUITHHE Afed
TR .
) Tafay few womem
F) AfoR TAUA T dh
®) o srgtia dcarer TreroTd ween

31 — 1. &1, U, &, 9.1, 9rdl.

-3-



gs74)  HE®E. 2 [25]

TR Tqg fRTe e wien arél wrdl, TS IIEATSA1 uded HE@Ten AU
Teht famuE s Sie T TR e .

g575) HAHE. 3 [25]
WA STEEATS! UUHT=R ST TR 6.
H) veE SfUT HETeETerRa =
q) TSN "=l
®) HAE dA
g) Weult
3)  Higd wEe

g976) HA®. 4 [25]

T A ITEATT TATSRUTEAT TEAUTIHTS! g Shelt ShIEishH (TETaRUT Iieh hieishH)
=N TR S AT HSHTHE HRATAA gt IS STEATHETE! Ueh ST SRS
TR A

[4764] - 419 -4-



	4764-101
	4764-102
	4764-103
	4764-104
	4764-105
	4764-106
	4764-107
	4764-108
	4764-109
	4764-110
	4764-111
	4764-112
	4764-113
	4764-114
	4764-115
	4764-116
	4764-117
	4764-118
	4764-201
	4764-202
	4764-203
	4764-204
	4764-205
	4764-206
	4764-207
	4764-208
	4764-209
	4764-210
	4764-211
	4764-212
	4764-213
	4764-214
	4764-215
	4764-216
	4764-217
	4764-218
	4764-219
	4764-220
	4764-301
	4764-302
	4764-303
	4764-304
	4764-305
	4764-306
	4764-307
	4764-308
	4764-309
	4764-310
	4764-311
	4764-312
	4764-313
	4764-314
	4764-315
	4764-316
	4764-317
	4764-318
	4764-319
	4764-320
	4764-401
	4764-402
	4764-403
	4764-404
	4764-405
	4764-406
	4764-407
	4764-408
	4764-409
	4764-410
	4764-411
	4764-412
	4764-413
	4764-414
	4764-415
	4764-416
	4764-417
	4764-418
	4764-419

